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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271789
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592730099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series.

SPLG?

Options:

1. » R
2.% 35
3.= U
4. v A

Question Number : 1 Question Id : 54592730099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev v fashedl # & Ao 7 ofca 318 T AT

SPLG?

Options:

1. = R
2. % S
3. = U
4. v A

Question Number : 2 Question Id : 54592730100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out the next term.

I11M, 0175, U23Y, ?

Options:

1. = Fg]
2. » H10K
3. = B3F
4. v A3E

Question Number : 2 Question Id : 54592730100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HITelT Ug ATT h |

I11M , O1/S5, U23Y, ?

Options:

1. = F&J
2. = H10K
3. = B3F
4. v A3E

Question Number : 3 Question Id : 54592730101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the series.

19K, 21C, 14E, 24F

Options:

1. v 19K
2. % 21C
3. = 14E



4. % 24F

Question Number : 3 Question Id : 54592730101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H Teld TG AT Fl

19K, 21C, 14k, 24F

Options:

1. v 19K
2. % 21C
3. = 14E
4. = 24F

Question Number : 4 Question Id : 54592730102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. = Aizawl

2. = Kohima

3. v Cherrapunjee
4. = Dispur

Question Number : 4 Question Id : 54592730102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu av fAredl & O R{AYH AT HL

Options:




Question Number : 5 Question Id : 54592730103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In each of the following questions, certain pairs of words are
given, out of which the words in all pairs except one, bear a
certain common relationship. Choose the pair in which the
words are differently related.

Options:

1. » Nirmala Sitharaman : Politics
2. » Barkha Dutt : Media

3. = Gautam Adani : Business

4. v Geeta Phogat : Boxer

Question Number : 5 Question Id : 54592730103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fereafafEa ucdsh weal A, $o @R oo fev 7w §, o
T Uk Rl BISHRL THT NS H s Uk ATeTT AT 9y &
39 ST T el foradl erse a7eeT aig @ dafad g

Options:

1. = TAHFT SIRA @ Telald
2.« L@ G : AT

3. = JIIH ST : AT
4. v IIT BRI : ST

Question Number : 6 Question Id : 54592730104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. = HI : PR
2. % EF : JL
3. vKL: VW



4.« BC: DF

Question Number : 6 Question Id : 54592730104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mmﬁwﬁﬁﬁﬁwaﬁgﬁm

Options:

1. = HI : PR
2. = EF : JL
3. v KL : VW
4. = BC : DF

Question Number : 7 Question Id : 54592730105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

Allergist : Allergy disorders :: Cardiologist :

Options:

1. = SKin

2. = Children
3. v Heart

4. « Eyes

Question Number : 7 Question Id : 54592730105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fAFafa@a mead A U a0 [@redl # O gFeiedd
ETT/LSS/TEAT <R gf&ul

UelTolee : Tololl [dhRI o TolT 1 ged-fehcdeh :

Options:



1. = cddr
2. = §ed
3. v &ar
4, = A7

Question Number : 8 Question Id : 54592730106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

ASTU : GYZA 1 LFBC:

Options:

1. v RLHI
2. » DFGS
3. * OGHK
4. % XYZE

Question Number : 8 Question Id : 54592730106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farTlellET weaT A XY 910 [¥eredl & O Trleyd
T/ TETT Tl gﬁvl

ASTU @ GYZA = LFBC :

Options:

1. v RLHI

2. » DFGS
3. = OGHK
4. = XYZE




Question Number : 9 Question Id : 54592730107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

W:M::

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.Y:0
2.X:N
3.V:L
4.T:V

Question Number : 9 Question Id : 54592730107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

W: M

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.Y:0
2. XN
3. V: L
4. T : V

Question Number : 10 Question Id : 54592730108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If L is coded as 8, M is coded as 6, O is coded as 4, S is coded as
7,11s coded as 2, F i1s coded as 3, and G is coded as 5, then
what 1s the coded form of FMOSIL?

Options:

1. » 452783
2. % 362847
3. = 472683
4. v 364728

Question Number : 10 Question Id : 54592730108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i L T 8 Ffed Fd &, M I 6 Ffed I &, O =l 4
FieT FA &, S FT 7 Hicd I &, | F 2 Ffed A &, F
HI 3 FHicd I g, 3T G FT 5 FHfed L § , a FMOSIL
T Fied T AT BaM?

Options:

1. = 452783
2. » 362847
3. = 472683
4. v 364728

Question Number : 11 Question Id : 54592730109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘Where are you now’ is written as
‘sho mho rho yho’, ‘are you make task’ is written as ‘mho rho
gho jho” and ‘make complete now’ is written as ‘sho gho uho’.

How is ‘where’ written in that code language?

Options:

1. = jho



2. * mho
3. v yho
4. = Data inadequate

Question Number : 11 Question Id : 54592730109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFdT e s A ‘Where are you now’ &I ‘sho mho rho yho’
foraT STaT &1 ‘are you make task’ &I ‘mho rho gho jho’
forar Srar § 3K ‘make complete now’ &I ‘sho gho uho’
formT ST g

gH e TN H ‘where’ FI Tl TR formal?

Options:

1. = jho
2. ¥ mho

3. v vho
4. = BT 39gTeT

Question Number : 12 Question Id : 54592730110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

IFYVER
251634

Options:



1.+6,3,4,2,5,1
2.x4,6,3,5,2,1
3.%5,2,3,1,6,4
4. %4, 6,5,2,3,1

Question Number : 12 Question Id : 54592730110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraferf@a wear &, 31aRT &1 v @HE fear am=m &, |@&dr 1, 2,
3, 4, 5 3T 6 A T&T a0 &, T &I F TIIA«T dTel IR
Bereq 2w 710 & A3 & 39 GAVoTd T IIad L dlh
& F I[AN TFARYT &, Ush ATF M58 oAV |

lFYVER
251634

Options:

1. v 6, 3, 4, 2,5 1
2. = 4,6, 3,5, 2,1
3. 5,2, 3,1, 6, 4
4. = 4,6, 5, 2, 3, 1

Question Number : 13 Question Id : 54592730111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F,G H,LJ, K Land M are sitting around a circle facing at the
centre. G is third of the right of K. J is second to the left of F
and third to the right of I, I is second to the right of M who Is
to the immediate right of J. Who is fourth to the left of H?

Options:

1. = K
2.vF



3. % 1
4 = M

Question Number : 13 Question Id : 54592730111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F, G, H, I, J, K, L 3R M gedrer # &g 1 i 7@ fwo
S G KF g drer g1 J, F & &0 & gt 3R L & g™
dAET g, |, M & et 8 gEr g, St J & fashedd g g
Hiel H & a0 & ater Tome 0T T 872

Options:

1. = K
2. v F
3. % |
4, = M

Question Number : 14 Question Id : 54592730112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sonu is taller than Yadu, Amit is taller than Sonu. Subhash is
taller than Amit. Sattu is tallest of all. If they stand according
to their height who will be exactly in the middle?

Options:

1. = Sonu
2. » Subhash
3. = Yadu
4, v Amit

Question Number : 14 Question Id : 54592730112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Hie], g, & oFsT g, AT, Ao & o1 & JAY, AT &
ST g1 Tod TAT & o &1 Il T 379 3975 & 3HedR &3
g &, dr 8k Jeg # Hie gem?

Options:

1. = Tle

o,

2. » gAY
2

3.« TG
4. v ATAT

Question Number : 15 Question Id : 54592730113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five persons Arun, Kajal, Vijay, Ajay and Abhay who are of
different weights, are comparing their weights. None among
Vijay, Ajay and Abhay is either the heaviest or the lightest.
Abhay is not heavier than Vijay. Ajay is lighter than at least
three other persons. If Arun is heavier than Kajal, and Vijay is
heavier than at least two other persons then who is the
lightest among them?

Options:

1. = Vijay
2. % Ajay
3. v Kajal
4. = Arun

Question Number : 15 Question Id : 54592730113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U T 3BT, shiolol, A, 31T 3T 38T S 37oler-37e0d1
qotel ok &, 3eloh Tolel T Jolall X @ &1 fasr, 3er AR
T H & Fig AT 98 ART IT &bl gl &l 39T o 4
AT FGT &1 35T FH § FH d 3feg FiFdal HT Jolell A
goohl &1 AT 3TBUT FioTel T AT &, 3T BeT 7 T +7 ar
Mo SgFdAT & HRT &, dl 3a8 O ad Foohl Shid g7

Options:

1. » ™o
2. = 3T

3. v hlalel
4, = 3BUT

Question Number : 16 Question Id : 54592730114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an exam, there are 6 students A, B, C, D, E and F. B is ahead
of C, D and F. A stood 1st amongst the students while E stood
last. F and C are ahead of D. Who stood 3rd amongst the six
students?

Options:

1. = A
2.% F
3.=C
4. v Either For C

Question Number : 16 Question Id : 54592730114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ueh e # 6 fagamdf A, B, C, D, E 3T F & B 3mt § C,
D 3T F & A, @7 et & dgel ¥ 9 @eT g1 STefeh
E,3fd# Tamer o @sT &1 F 3R C, D & 36 §1 6 fogaaan
A T IEY TUTT W Hie ST T

Options:

1. = A
2. = F
3. = C
4. v Ir F Ir C

Question Number : 17 Question Id : 54592730115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Indian Hockey Academy” wants to form an Ice Hockey Team
of 5 players out of a pool of 8 players named A, B, C, D, ... H.
Further, the following facts are known:

I. If A is selected, G 1s also selected.

II. If H is selected, then C cannot be in the team.

I11. B is the best player, so B is always selected in the team.
IV. D is selected only if F I3 selected.

Which of the following is a valid combination of players?

Options:

1. = BDCFH
2. v ABFDG
3. = BCFEH
4. = ACDFG

Question Number : 17 Question Id : 54592730115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



“TRATT BT 3TRIEHI” U 3TSH BT &TH Feler & v 8
Reonfseal A, B, C, D, .. H. & ¥Ag # & 5 Tgenfsar &1
TIeT LT AEdT &l I I§ d2F AT &

. IfE A FT TIT B9M,G T AT ITIeT B9

Il. If& H T TIT 819, C T F 1T B

Il. B, & 953 RIemsT &, 3T B gARM &IH H g
V. D T Tl ohdol e 9N, ST F T I B

et # O i =T T AT AT &7

Options:

1. = BDCFH
2. v ABFDG
3. = BCFEH
4. = ACDFG

Question Number : 18 Question Id : 54592730116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question below, there are two statements followed by
three conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
I. Some children are adults.
II. Some adults are old.

Conclusions:

I. Some children are old.
II. Some old are adults.

III. All adults are children.

Options:

1. = Only conclusion I follows
2. v Only conclusion II follows
3. = Conclusion I and II follow
4. = Conclusion II and III follow

Question Number : 18 Question Id : 54592730116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A U 310 T A g YU« 3T 394 915 diel vy U e
&1 IR ST a0 ST HUAT T GcF ATedelT & b a5 g
TTATT T2t & Feet g gl a7 Ty et #r afer
I FIeT fF T a7 oSSt # @ Fid G dhded 37 8
3TeTEOT LT &, ﬂﬁﬂﬂﬁ?—r?—rﬂr;maﬁﬁl

o
F §T, Sfeleh &l

31?_9- siifelen, d4

IGAER T

. ¥ e, g9 .y

I F5 7€, ENEENRY
. THT aTfeleRr, s &1

Options:

1. % forshy | 3{eTEor &
2.%%‘@«‘@”31@%
3. = faseny | 3T | 31FEor €
4. = faswy || 3T 1| 37EoT &

Question Number : 19 Question Id : 54592730117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For the Assertion (A) and Reason (R) given below, choose the
correct alternative from the following:

Assertion (A): Protein is an important part of balanced diet.
Reason (R): Milk and eggs are rich in protein.



Options:

1. = Both (A) and (R) are true and (R) is the correct
explanation of (A)

2. v Both (A) and (R) are true, but (R) is not the correct
explanation of (A)

3. = {(A) is true, but (R) is false
4, = {A) 1s false, but (R) is true

Question Number : 19 Question Id : 54592730117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 8w v AR (A) 3T FRoT (R) & fov, et # &

. N
el fdeheq Tqe:
S

fHFUT (A): NET HfelT MR FT T Hgcaqur TG ¢l
HROT (R): g 3T 318 Wil & s 8 2|

Options:

1. = gl (A) 3K (R) @&r & 31 (R), (A) &7 HEI TISCIRIOT &
2. v ardr (A) 3 (R) @@l &, afka (R) (A) &1 g
TUSEIRIOT el o

3. % (A) Wal &, dfehet (R) dTeleT &I

4. = (A) T &, ot (R) TETr B

Question Number : 20 Question Id : 54592730118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following series.

8,17, 18, 37, 38,7

Options:

1. = 111



2. % 98
3.v77
4. % 87

Question Number : 20 Question Id : 54592730118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafoad Harem wr @+

8 17, 18, 37, 38, ?

Options:

1. % 111
2. % 98
3. v 77
4. » 87

Mental Ability2

Group Number : 2

Group Id: 5459271492

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Mental Ability?2

Section Id : 5459271492
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459271790
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592730119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

25, 36, 27, 34, 31, 32
Options:

1.+ 31
2. % 25
3. % 27
4. % 32

Question Number : 21 Question Id : 54592730119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a&r IS AW H I UG AT B

25, 36, 27, 34, 31, 32

Options:

1. v 31
2. » 25
3. = 27
4. = 32

Question Number : 22 Question Id : 54592730120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:



1. = 3456
2. v 9852
3. = 5678
4. = 4567

Question Number : 22 Question Id : 54592730120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w a0 Beredl # O Hed d&aT ) gﬁl

Options:

1. = 3456
2. v 9852
3. = 5678
4. = 4567

Question Number : 23 Question Id : 54592730121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd number pair from the given options:

Options:

1. 2-8

2.v35-225
3.%7-343
4, % 3-27

Question Number : 23 Question Id : 54592730121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgU a0 [Ahedl 7 & foiea AT I T

Options: 7
1. = 2 -8
2. v 5 - 225

3. = 7 - 343



4. = 3 - 27

Question Number : 24 Question Id : 54592730122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd number pair from the given options:

Options:

1.+49:7:289
2.% 25:5:125
3. 64:8:512

4. % 16:4:064

Question Number : 24 Question Id : 54592730122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w Irv Breur H O fHea H{sma«‘rgﬁl

1p.\w49:7:289
2. = 25 : 5 :125
3. = 64 : 8 : 512
4. = 16 : 4 : 64

Question Number : 25 Question Id : 54592730123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

(187, 198, 225)

Options:

1. v (230, 241, 268)
2. = (460, 472, 240)
3. % (320, 241, 258)
4. = (140, 231, 278)



Question Number : 25 Question Id : 54592730123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed U2l A T 97 [eredt # & graleud
ITETT/TSS/TTIT hi gﬁvl

(187, 198, 225)

Options:

1. v (230, 241, 268)
D, = (460, 472, 240)
3. = (320, 241, 258)
4. = (140, 231, 278)

Question Number : 26 Question Id : 54592730124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of M in the following figure.

6| 9
5 16

M
4 3| 36

Options:

1. v 25
2. % 36
3. =49
4. % 64

Question Number : 26 Question Id : 54592730124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frFafaad 3mpfad # M &7 AT A1 SHIfaiv]

k; 6| Y
] 16
4 3| 3~
Options:
1. v 25
2. = 36
3. = 49
4. = 64

Question Number : 27 Question Id : 54592730125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out the two signs to be interchanged for making
following equation correct:

12x4+5+4=23

Options:
1.v+and x
2. -and +
3% -andx
4, = Xxand +

Question Number : 27 Question Id : 54592730125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraf@aT THRIUT S T Fala & OIT 5T aF Ghal Y
AT IS

12 x4 +5 + 4=23

Options:



1. v + 3T x
2. % - 3 +
3. = - 3T x
4, = x 3T +

Question Number : 28 Question Id : 54592730126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
G>UzC=T=P<J=<Z
Conclusions:

1U=T

OU=T

Options:

1. = If only conclusion I is true

2. # If neither conclusion I nor II is true
3. = If only conclusion II is true

4. v If either conclusion I or II is true

Question Number : 28 Question Id : 54592730126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SR fRw aTe et H, U FU F 1 oy fovw§ | ey fou
AT HU Pl oI Al &, Hol &I T JH dX W AT T4 +
gre faeRor s & AN e au Y Tk fqu a0 v 7 &

Flel AT fAshy TTfoheh T F 3HTEIOT FIAT B

i H
G=U=C=T=P=J<Z

o=y

LU=T
ILU=>T

Options:

1. = I Fhael vhy | IcT &I

2. = gfg of ar sy | 3w 7 & || ' &I
3. = gL gl TSk || T &I

4, v I AT A SRy | A7 || T B

Question Number : 29 Question Id : 54592730127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find odd number.

Options:

1. % 23
2. % 83
3.v 63
4. % 97

Question Number : 29 Question Id : 54592730127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RAYH g&aT ATd hielg:

Options:

1. = 23
2. = 83




3. v 63
4. = 97

Question Number : 30 Question Id : 54592730128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Fiber, Cotton and Shirt?

Options:

3. %

.QO0

Question Number : 30 Question Id : 54592730128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ & 8 Fid a7 ”IT wEa, F9F JiT FAS & 8
ey &7 Ufafafacg Iar &7

Options:



3 0eE

Question Number : 31 Question Id : 54592730129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following letters represents the group of person
who is a Poet, a Comedian and a reporter but not Youtuber?

Youtuber

Reporter

Comedian

Options:



1.v]
2. %1
3.%0
4, = e

Question Number : 31 Question Id : 54592730129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el # & il &7 378 39 =i & THG hl
yiafatscg 3T & S U Fid, Tk RiARIT HT T e

g, ofehel Jege LT 87

eINp Iy

Options:

1. v |

Question Number : 32 Question Id : 54592730130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Complete the series by choosing right figure from the given
choices.

Question Figures

Y| ve | Y| e

1 2 3 4

Options:

1. =

o

O

o

W
W
W

4 %

Question Number : 32 Question Id : 54592730130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgu v fashedt A & WEl 3oy eIl HZeT R T F|

—_
v | ¥ [ ] e

Options:



1. = b
. D
5 LY,
s o X

Question Number : 33 Question Id : 54592730131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Question Figures

FMd 2

Options:

1




.

L=

4 v

Question Number : 33 Question Id : 54592730131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu av faskedl A & TWET 3T TRt HTell F T R

g2 i
FHMd 2

3




L

Question Number : 34 Question Id : 54592730132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing figure in the given matrix.

R

p=

/N

I

@\

P

O

&

Options:

1. =
2. %

4]




3. %

4, v

Question Number : 34 Question Id : 54592730132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a1v Afgars & oea 3pfa wAra Hifeiw)

XA A
DD
odke

Options:

aJd

‘I_ﬁ@
'
2. %



4, v

Question Number : 35 Question Id : 54592730133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the four figures are marked in a sequence or
similarity in some way.You have to choose the figure which is
odd:

Options:

-




Question Number : 35 Question Id : 54592730133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@d I AT & 8 died # U FHATAAT g TR Jg
HTpTT AT el & S fawH / fHesT gl

Options:

-

Question Number : 36 Question Id : 54592730134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many straight lines are there in the figure given below?

Options:



1. %15
2. % 10
3.v14
4. % 16

Question Number : 36 Question Id : 54592730134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR & S sy & Rhael @ YEn #7

Options:

1. = 15
2. = 10
3. v 14
4. = 16

Question Number : 37 Question Id : 54592730135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three positions of a dice are given. Find out which is found
opposite the letter D in the given cube.

|| &

1.« F
2. % E




3.vC
4 = A

Question Number : 37 Question Id : 54592730135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh U T dlel gfaar g a1 g1 A1d e o Tu 9w 9
H 37T D o AT i @7 3787 g1Em?

o [93] L¥
1. F
2. = E
3. v C

4. = A

Question Number : 38 Question Id : 54592730136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question find the answer figure in which
question figure is embedded.

hil

Options:

1. =




4, v

Question Number : 38 Question Id : 54592730136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a1 ueel A e 3MHIT AT HIGT TS@A deat sl

Aleaiad ol

Y

Options:




X

Question Number : 39 Question Id : 54592730137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which answer figure will complete the pattern in the
question figure?

Question figures

?

Options:

1. =

3. v




Question Number : 39 Question Id : 54592730137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

leT T 3l 3Thic WoeT 3Thid H Yol I T FIE?

e g

Options:

1. =

N

Question Number : 40 Question Id : 54592730138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following choices is the exact mirror image of
the main figure

Question Figure:

£

[T =

Options: "
3
.

2. % @
e
4 = %

Question Number : 40 Question Id : 54592730138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foaatfalEa & @ Fie @1 SheT AET 3P T T a0
oig g7

wesT i
M

£

Options:

(B (B (BT

General Awarenessi

Group Number : 3

Group Id : 5459271493
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No



Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 5459271493

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 5459271791
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592730139 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the most notable form of
dance-drama that has originated from Kerala?

Options:

1. = Kathak

2. » Bharatnatyam
3. v Kathakali

4. » Mohiniyattam

Question Number : 41 Question Id : 54592730139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el H & Sl &7 Jcd-alceh T o8 Seelei g
ST ol & 3cUool BT &7
s |

Options:

1. » hefh

2. » HAIIAICTH



3. v Feokel
4. = ANETEH

Question Number : 42 Question Id : 54592730140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are the regional music of the Garhwal
region?

Options:

1. v Basant Geet and Ghasiyari Geet
2. = Villu Pattu and Chai hia

3. » Ammanaivari and Ghasiyari Geet
4. » Chal hia and Ammanaivari

Question Number : 42 Question Id : 54592730140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IeaTel &7 & &A1 TIg Fde™ad # & id 8 &7

Options:

1. v §8d M 3 gfaanT ia
2. = Tawm“qgaﬂTaW%ﬂT

3. » MFEATARaLr 3R gfEadT g
4. = I BIT AT AFATTE

Question Number : 43 Question Id : 54592730141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Brahmotsavam is one of the major festivals of :

Options:

1. = Maharashtra

2. » Tamil Nadu

3. v Andhra Pradesh
4. » Karnataka



Question Number : 43 Question Id : 54592730141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SEAIcHaA % YD A H H UH g

Options:
1. = HAGNIcg
2. » AfHeET3
3. v 3T uger
4. % Thallceh

Question Number : 44 Question Id : 54592730142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This monument was dedicated to Arjumand Bano Begum.
Amanat Khan Shirazi was its calligrapher. Which monument
is this?

Options:

1. = Fatehpur Sikri
2. v Ta) Mahal

3. = Buland Darwaza
4. = Delhi Fort

Question Number : 44 Question Id : 54592730142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JE TAR 31\:_1;a-iq STl S9TH shl FATUT AT| HATAT Tl ERTST

SO% ol I Tg Fld AT TARF &7

Options:
1. * TAgqy TR

2. v disTHGe

3. % goiq ATt

4. = Tl T ToRelT

Question Number : 45 Question Id : 54592730143 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

What will be the Fiscal Deficit for the financial year 2019-20
as per the Union Budget 2019?

Options:

1. v 3.3 percent
2. % 3.4 percent
3. = 3.5 percent
4. = 3.6 percent

Question Number : 45 Question Id : 54592730143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g Fsfe 2019 F AR e a¥ 2019-20 & fov faccd
]TeT T BET?

Options:

1. v 3.3 ulgea
2. % 3.4 ufaera
3. = 3.5 yfaerd
4. = 3.6 ufaera

Question Number : 46 Question Id : 54592730144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following steps have been declared under the
Union Budget 20197

Options:

1. v Rs 1 lakh loan to be provided for Self Help Group (SHG)
women members under Mudra Scheme.

2. = Qverdraft of Rs. 10,000 for every verified women SHG
(Self Help Group) member having a Jan Dhan Bank Account.

3. » One woman per Self Help Group (SHG) will be eligible for
a loan up to Rs. 5 lakh under the MUDRA scheme.



4., = Shift approach from women-led initiatives to
women-centric policy making.

Question Number : 46 Question Id : 54592730144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FAT Folc 2019 & dad rafai@d & & sid a1 seH OIilvg
ToraT 1T B2

Options:
1. v JeT Il & Tgd TaT T THE (THUTSIT) T Afgell
TEEAT & o0 1 oM U KT TOT YcTel TohdT SITTI|

2. % Slel Ua Seh TIAT @l ATl Ucdeh cdIud HAlgel

THVST (F9T 8T §Hg) dedd & folw 10,000 97 =7
MaETwe |

3. » U Algel Uid TO¥ TSI THE (TAUAST) H HET Arsie]
o dB&d 5 & ®A Tk o F|UT o Tol¢ I EEi|

4. = AGe3 & Adca e Ugd & Afgem higd afd f@ATor
der giecshiorT # gRadd|

Question Number : 47 Question Id : 54592730145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the Economic Survey 2018-19, if India grows at a real
annual growth rate in Gross Domestic Product (GDP) of 8
percent every year from now on, then it will become a USD 5
trillion economy by:

Options:

1. » 2030-31
2. % 2027-28
3. v 2024-25
4. % 2021-22




Question Number : 47 Question Id : 54592730145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T+ FATRT 2018-19 & @R, Il #RT 39 & & a¥
Hehel Bl 3cUTe (SISTY) T aredideh aTieh Jig &l 8%
T O ST &, d Ig U JudsT 5 fefelde ST srdeaaear &9
deh S ST

Options:

1. = 2030-31
2. = 2027-28
3. v 2024-25
4. = 2021-22

Question Number : 48 Question Id : 54592730146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Imagine that you are holding a current-carrying straight
conductor in your right hand such that the thumb points
towards the direction of current. Then your fingers will wrap
around the conductor in the direction of the field lines of the
magnetic field. “ Which of the following rule have been stated
above?

Options:

1. v Right Hand Thumb rule
2. » Left Hand Thumb rule
3. » Right Hand rule

4. » Left Hand rule

Question Number : 48 Question Id : 54592730146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



" FeUel HITGI foh 3T 3Te arfgar g1 # faega ammamy
dTelsh Rl SH Yoh Uehs gu & o 3MTIehT 3fo[aT Taegd amT
feerm T 3T Fhd FIAT &, AT 3TYRT el ATelsh K AR
3T qSehrT &1 T T IFMA 7 foom & fooer gef | -
@ # @ i a7 @9d 3WIed ST 34T §7

Options:

1. v SIigel BT T 30[ST faaA
2. = &V Y FT IS @A

3. % EIge BTY T @IH
4. % ST T T @TH

Question Number : 49 Question Id : 54592730147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Each metre {(m) is divided into (i) equal divisions, called
centimetre (cm).Each centimetre has (ii) equal divisions,
called millimetre (mm).

Options:

1. = (1) 10, (i) 10

2. v (1) 100, (i1) 10

3. = {1) 1000, (11) 100
4. = (1) 1000, (i) 1000

Question Number : 49 Question Id : 54592730147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tedsh AT (m) F (i) AT Tasimerar # fasmiera fomam
SaT &, 99 @AY (AT FET AT &1 T AT # (i)

AT TTHTST 8l &, Toles HeldAe (TAAT) Far Irdl
gl

Options:




1. = (i) 10, (i) 10
2. v (i) 100, (i) 10

3. = (i) 1000, (ii) 100
4. = (i) 1000, (i) 1000

Question Number : 50 Question Id : 54592730148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a chemical change?

Options:

1. * When food gets spoiled, it produces a foul smell.

2. = A slice of an apple acquires a brown colour if it is not
consumed immediately.

3. v When sugar gets dissolved in water.
4. = Only physical change occurs in case of food items.

Question Number : 50 Question Id : 54592730148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o @d # & i O T IRdde el &7

Options:

1. % S flolel @3 ST § 9 38 & e 37 oerar &

2. » I A & THST T Teehrer o T ToldT ST @F a8 T BT
+ g S Bl

S.JEIEI'?ﬁ?ﬂ'm?ﬁ'ﬁ'ﬂﬂ'EﬂT-ﬁ'%'l

4. = T YSrAdl & ATH H shad #ifaF aRade ga g

Question Number : 51 Question Id : 54592730149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs are not of female reproductive
system?

Options:




1. = Uterus and Oviduct

2. = Oviduct and Ovary

3. v Testis and Sperm duct
4. = Uterus and Ovary

Question Number : 51 Question Id : 54592730149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@a & @ i I ST AT Uslelal WU hT ol &7

Options:

1. = I8 3T 37Earfgar
2. = 3Edllgell 3 378N
3. v guUT 3T RI0T Afeleh]
4, = IATT T FERE

Question Number : 52 Question Id : 54592730150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Forest fires and volcanic eruptions are the prime source of
pollution.

Options:

1. v Air
2. *» Walter
3. = Soll
4. = Noise

Question Number : 52 Question Id : 54592730150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STaTel =T 31197 3R SaTellazT faTmie UENUT & UHE
7T gl

1. v 9T
o




Question Number : 53 Question Id : 54592730151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mark the incorrect statement.

Options:
1. = Government has taken several steps to prevent open
defecation.

2. = Open defecation causes public health problems.

3. » The germs In the faeces and urine often find their way
into sources of water and food which may lead to disease.

4. v Open defecation is the practice of defecating in the toilet.

Question Number : 53 Question Id : 54592730151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T el 3Thd hi|

Options:

1.« Tl & o Y Aokl ok TIT TCFHR A F3 FeA 337 &
2. » Tl H T FISifaleh TALT THTATIT FT FROT Folcll g

3. = A 3T AT F FIEV] FFH Ul 3N flelel & Fdr A
AT TEAT TSl ofd & Torad START &7 el 8

4. v ol A =T KT TeRT A M Fla T 74T §

Question Number : 54 Question Id : 54592730152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Dysentery, plague, diphtheria, etc are caused due to:

Options:

1. = Virus



2. v Bacteria
3. = Fungus
4. = Protozoa

Question Number : 54 Question Id : 54592730152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTaER dRRr sEdcdlg, Teldr 3N BwdiiEr 3fe foras FrRoT
g 87

Options:

1. = argad (fawmoy)
2. v Shay

3. % hdeh

4, = GLSIAT (MESI3)

Question Number : 55 Question Id : 54592730153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wuchereria, the filarial worms are the cause of:

Options:

1. = Ringworms
2. » Amoebilasis
3. v Elephantiasis
4. » Malaria

Question Number : 55 Question Id : 54592730153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIRRT, EEARIT FIA fohasht FROT 87

Options:

1. = @Ig

2. = NACACESH
3. v 2ellUg (VellhlTec3 )




4. » Hell™T

Question Number : 56 Question Id : 54592730154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Through which of the following states does the Godavari river
not pass?

Options:

1. » Maharashtra

2. = Telengana

3. » Andhra Pradesh
4. v Tamil Nadu

Question Number : 56 Question Id : 54592730154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ml =T TeieafeliEd & & fooq T @ 7igT JoRAT 87

Options:

1. = HABNTSE
2. % TolelTalr
3. = 3Ty Udel

4. v dmolaﬂg

Question Number : 57 Question Id : 54592730155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following mountains/hills is not in the
Peninsular Block of India?

Options:

1. » Nallamala hills
2. » Veliconda hills
3. = Javadi hills

4. v Lunglel hills

Question Number : 57 Question Id : 54592730155 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

el H & Sl 97 99 / 9gI1$AT AR & WrFedg
TUS H gl &7

1. = TeoTHATAT Ygrsdl
2. % QfolehlesT UEIST
3. » S@gT "gIisar
4, v RS TSl

Question Number : 58 Question Id : 54592730156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the factors affecting soil formation determines the
colour, texture, chemical properties mineral, content,
permeability of the soil?

Options:

1. v Parent rock
2. = Relief
3. » Micro-organisms

4, « Time

Question Number : 58 Question Id : 54592730156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THET & TTATUT I THTad el aTel el H & i IT T,
§elIac, Wletol b I Teleh IO, HTHT, TAET hr IRET=d
faeaRa ar g2

Options:

1. v Sldleh (gl

2. = Tgd
3. » g&A SiIg




4. « FEI

Question Number : 59 Question Id : 54592730157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of following crop is known as the ‘Golden Fibre’?

Options:

1. = Cotton
2. » Maize
3. v Jute

4. = Wheat

Question Number : 59 Question Id : 54592730157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & @ fFE Ter T Foag¥ A (Tesd HFa) &
ATH & ST SATaT &7

Options:

1. = surE

2. % FHokohl

3. v SIC

4. = A

Question Number : 60 Question Id : 54592730158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In India, literacy rate denotes the percentage of population
above of age, who can read, write and have the ability to
do arithmetic calculations with understanding.

Options:

1. v 7 years

2. * 10 years
3. % 12 years
4. = 15 years



Question Number : 60 Question Id : 54592730158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H, TTeRdr &% IR & SUET I STAHEAT

giaerd =l ceiTar &, S TAST & g1 Huiaig 0T ol
dhd &, U Tehd & A o™ T&d &

Options:

1. v 7 @y
2. = 10 Oy
3. % 12 ay
4. = 15 ay

General Awareness?2

Group Number : 4
Group Id: 5459271494
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 5459271494

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1

Sub-Section 1d: 5459271792



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592730159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following states of India doesn’t share its
borders with Bangladesh?

Options:

1. = Tripura

2. = Meghalaya
3. = Assam

4. v SIkKim

Question Number : 61 Question Id : 54592730159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & faafei@a T=ar & O sia a1 S & arg 9«0
AT Y I FAET heaT &7

Options:

1.%‘[‘3@?
2. = T
3. » 3GH
4. v AR

Question Number : 62 Question Id : 54592730160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following languages do not belong to the
Indo-European group of languages?

Options:

1. = Sindhi

2. = Assamese
3. = Persian

4. v Malayalam



Question Number : 62 Question Id : 54592730160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfa@a & & i a7 AT SSI-gUdT dAg $r st @
1. . R

2. = 3r|fAar

3. = W

4. v HeldTelH

Question Number : 63 Question Id : 54592730161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Megasthenes was an ambassador of (i) , sent to the court
of (ii) :

Options:

1. v (i) Seleucus I Nicator (ii) Chandragupta Maurya
2. = (1) Alexander (i1) Bindusara

3. = (1) Seleucus I Nicator (i) Bindusara

4. = (1) Alexander (i1) Chandragupta Maurya

Question Number : 63 Question Id : 54592730161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AAEASTST () % Teied o, Toew (i) & LA
H ST =T o

Options:

1. v (i) Gegshd 92H foehel (i) dgaed A
2. = (i) oIS (i) FegEr

3. * (i) Gegshy vuH fahe (i) foegar

4. = (i) 3FAST (i) T HIF




Question Number : 64 Question Id : 54592730162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Delhi Sultanate rulers constructed a
new garrison town named Siri for his soldiers to counter the
Mongol invasion?

Options:

1. * Muhammad bin Tughlaq
2. v Alauddin Khalji

3. # Jalaluddin Khalji

4. = Balban

Question Number : 64 Question Id : 54592730162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraf@a A O el Gedaa & R oG o HIMoT 3THAUT
T FHRTE el o oI 3T Sfaerr & ol BT a1As T
AT BIGal 3G T TTATOT ThAT?

Options:
1. » AEFAS EGl SEEED
2. v 33 elar

3. « doilc:ljfﬁd Hrersi
4. % Folae

Question Number : 65 Question Id : 54592730163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Other than the name of a region, Basohli is also a form of

Options:

1. v Painting
2. *» Dance
3. « Music



4. = Theatre

Question Number : 65 Question Id : 54592730163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh &7 o oTH o 3elrdr, SAIgell 39kl U ®9 AT &

Options:

1. v IFRelT

x ey

2. % 7
3. = g
4. % AT

Question Number : 66 Question Id : 54592730164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The “Blue Rebellion” took place in (i) in the year (ii) :

Options:

1. = (i) Bihar (ii) 1854
2. v (1) Bengal (i1) 1859
3. = (1) Bihar (ii) 1859
4. = (1) Bengal (i1) 1854

Question Number : 66 Question Id : 54592730164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"sirer Tadig" (i) # ag (i) g3 |

1. = (i) e (i) 1854
2. v (i) 9Imer (i) 1859
3. = (i) ™ (i) 1859
4. = (i) 9mer (ii) 1854

Question Number : 67 Question Id : 54592730165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(1) was announced as the Direct Action Day by the
(i) :

Options:

1. » (1) 16 August 1946 (1i) Muslim League

2. = (1) 16 August 1946 (11) Congress

3. = (1) 16 August 1945 (ii) Congress

4. = (1) 16 August 1945 (11) Muslim League and Congress both

Question Number : 67 Question Id : 54592730165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O (1) ZaNT Icd&T Rds Gad & ®9 H
T foRar arar am
Options:

1. v (i) 16 3WEd 1946 (i) HEEH oftar

2. = (i) 16 37976 1946 (i) hEIT

3. = (i) 16 397T&d 1945 (i) g

4. % (i) 16 316 1945 (ii) FREerA o 3T FEIE et

Question Number : 68 Question Id : 54592730166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin Bansal is the co-founder of :

Options:

1. = PayTM
2. » PhonePe
3. v Flipkart
4. » BHIM

Question Number : 68 Question Id : 54592730166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e s89aT % OE-GTATIF &

Options:



B~ W N =
<

Question Number : 69 Question Id : 54592730167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kyriakos Mitsotakis has been elected as the Prime Minister of

Options:

1. v Greece
2. * France
3. = Czechoslovakia
4. = Brazil

Question Number : 69 Question Id : 54592730167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FRINITRG Hcaared hr F Tl FAT & T H
g?rle:IT%I

Options:

1. v d9F

2. = A

3. % ARITGTRAT
4. = wifeter

Question Number : 70 Question Id : 54592730168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many people were conferred with the Padma Bhushan

Award in the year 2019?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.




Options:

1.6
2.7
3.8
4.9

Question Number : 70 Question Id : 54592730168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a¥ 2019 # forciel ollall Y 93T $NUT TN & FFATT foham
IgT?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 6
2. 7
3. 8
4. 9

Question Number : 71 Question Id : 54592730169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following book is not authored by Jeffrey
Archer?

Options:

1. = Sons of Fortune

2. * Honour Among Thieves
3. » False Impression

4. v The Shining

Question Number : 71 Question Id : 54592730169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafali@d & @ &l AT grasw ST 3R e@rT fofEd «&
&7

Options:

1. » §F 3% B

2. = 3T AT deeT
3. » Wled SFIeM
4.JE{QTI3'1—?\-'|+'¢IT

Question Number : 72 Question Id : 54592730170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the secretariat of the BIMSTEC situated and how
many members does it have?

Options:

1. = Dhaka, Five
2. = Delhl, Seven
3. v Dhaka, Seven
4. = Delhi, Five

Question Number : 72 Question Id : 54592730170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SFadeh T @A Fal T0d & I 384 hdad Jeed §7

Options:

1. = @RI, UTd
2. % Teoor, @d
3. v GIhl, 9Td

4. « Reedh, ota

Question Number : 73 Question Id : 54592730171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Dmitri Mendeleev is known for his contribution in the
development of

Options:

1. » Calculators

2. = Semiconductor chips
3. = Vaccination

4. v Periodic Table

Question Number : 73 Question Id : 54592730171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR EIR:ECIERC & TOrrg & 37 INrEe & forw

SATT ST &

Options:

3. % CIFRTRIT

4. v M@ RO

Question Number : 74 Question Id : 54592730172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a feature of the federal form of
Indian Constitution?

Options:
1. = Dual Government (that is national government and
regional government)

2. = Division of powers between the national and regional
government

3. v Judiclary under the directly elected government
4. = A rigid Constitution

Question Number : 74 Question Id : 54592730172 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fAeITel&a # & i @7 9dT A79dTel o T 9 ahl
faetyar s1@r 87

Options:

1. % ET THR (S T AR 3T &80T TR 31
2. » TS 3T 89 TR & & elfbddl 1 [aHTeie |
3. v 91y TAaTad RN o 37lel sTIuTielehT|

4, » Uk AFT AALTe|

Question Number : 75 Question Id : 54592730173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following Articles of the Indian Constitution
are the duties of the Prime Minister enumerated?

Options:

1. = Article 75
2. v Article 78
3. = Article 83
4. » Article 88

Question Number : 75 Question Id : 54592730173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Fiaere & farafafad # @ h sfeede # Tureras
& haed St AT &7

Options:

1. » 3f[ese 75
2.@31@1;_%5378
3. = 3Ieag 83
4. = 3oe 88

Question Number : 76 Question Id : 54592730174 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

The 44th Amendment Act made a major change in Article
352. Which of the following is that change?

Options:

1. = The operation of the National Emergency can be limited
to a specified part of India.

2. v The words ‘Internal disturbances’ were replaced with
‘Armed rebellion’.

3. » The declaration of a National Emergency was made
immune from judicial review.

4. » The Prime Minister was given the power to individually
ask the President to declare a National Emergency.

Question Number : 76 Question Id : 54592730174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

443 TeNysT ATAIA of 3feade 352 # Uk 37T URada R
g8 TaeaTeoli@dd H 8§ hiel &7 IRade &7

Options:

1. » JSEIT MTITARTST hT dTelel AR & U fafese Red

de OITAT & dhal &l

2. v '3k ASTSI eTegl hl 'TIEA [Agig & o 83T =T A7
|

3. % JSEIT HTUTARTST Rl GINOT Rl OISR TAGT & UaCeT

SATIT AT AT

4. » GUTAHAT Bl STTFdeTd T & IS¢ s TSI AT
NG Tl o ToT Fgal T erfFd ar a5 27|

Question Number : 77 Question Id : 54592730175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of the following Acts made the Governor-General of
Bengal the Governor-General of India and vested in him all
civil and military powers?

Options:

1. = Regulating Act of 1773
2. » Pitt’s India Act of 1784
3. v Charter Act of 1833
4. = Charter Act of 1853

Question Number : 77 Question Id : 54592730175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafo@a # 8 g JARTH o Foma & ITgeil-ofeldel ol
T T TTe-olelal FT 3T 38 Tl AP 30T e
erfFaar & fafed fRar?

I . YRR siffeem 1773

2.« Teg sfEar vee 1784

3. v 1833 &1 AR U TATaTH

4. = 1853 =T YRR T ATATagaT

Question Number : 78 Question Id : 54592730176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has been awarded the AIFF Women’s Player of the Year
2018-19?

Options:

1. v Ashalata Devi

2. » Bembem Devi

3. » Stephanie al-Naber
4. = Bala Devi



Question Number : 78 Question Id : 54592730176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a¥ 2018-19 H UNSUHUE Afgell TEemsT 1 ek fhd feam
IR”T &7

Options:

1. v 3TeTTerdr 2ar
2. = SFSH 24T

3. * TeWeil 3Tal-TaY
4, % Frell 3ar

Question Number : 79 Question Id : 54592730177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1) 1s the oldest Cricket Stadium in India, which 1s
situated 1in (11) :
Options:

1. = (1) Brabourne Stadium (ii) Mumbal
2. » (1) Ferozeshah Kotla (ii) Delhi

3. v (1) Eden Gardens (i1) Kolkata

4. = (1) Wankhede Stadium (i) Mumbai

Question Number : 79 Question Id : 54592730177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(i) T T T e fohehe w3 &, S (i)
H e g

1. . (i) salor i3I (ii) Aog
2. = (i) TRIISTeNE e (i) feeelr
3. v (i) 38 ST (ii) hlelhra

4. = (i) aeray RfFEA (i) A




Question Number : 80 Question Id : 54592730178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following is a tennis player?

Options:

1. = Alex Morgan

2. * Meg Lanning

3. v Simona Halep
4. = Hope Solo

Question Number : 80 Question Id : 54592730178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forfoiaa & @ sia v g Femsr &7

Options:

1. ®= ol Hidlel
2. = R offaldr
3. v AT gy
4. = BT Hrar

Arithmetic Ability1
Group Number : 5
Group Id : 5459271495
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271495

Section Number : 1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271793
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592730179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

[(12)%2+ (7)?] +125= 3.2
Options:

1. % 18
2. %14
3.% 8
4. v 16

Question Number : 81 Question Id : 54592730179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATt T U2sT H Uelardes eg (?) & TUTT 9T FAT 3HTa]

AT

[(12)2+ (2)?]=125= 3.2

Options:

1. = 18
2. = 14
3. = 8
4. v 16



Question Number : 82 Question Id : 54592730180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

80.4- X _,_1_1.6 % 21.5 — ';r
Options:

1. = 52
2. % 48
3.v 64
4. %76

Question Number : 82 Question Id : 54592730180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e # wReaaes Neg (?) & TATH UT FAT 3T

Sl

80.4- X _,_1_1.6 ¥ 21.5 — ';:r

Options:

1. = 52
2. % 48
3. v 64
4. = /6

Question Number : 83 Question Id : 54592730181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

6 -EEINTS )
2 & 7

Options:



3.v14
4 % 15

Question Number : 83 Question Id : 54592730181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el &T el # Uesiares eg (?) & T 9T FIT 3T

ATV

1 1 3
6-+5-x1-=7?

2 4 7
Options:

1
1. = 5

2$13

3. v 14
4. = 15

Question Number : 84 Question Id : 54592730182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

300 20 10 50

10 10 10 10

=7

Options:



1. = 200
2. » 600
3. v 300
4. = 500

Question Number : 84 Question Id : 54592730182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qeaaraeh eg (?) o TATdl 9T hiel AT ATl ITAIT?

300 20 10 50
=

10 10 10 10

?

Options:

1. = 200
2. = 600
3. v 300
4. = 500

Question Number : 85 Question Id : 54592730183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

348 +29x 15+ 156= (2)*+120

Options:

1. % 12
2.v 6
3. % 36
4. %9

Question Number : 85 Question Id : 54592730183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



qeeldrdeh deg (7) o TUTT UL hiel AT HleT JTAI?

348 +29x 15+ 156 = (2)*+120
Options:

1. = 12
2. v 6
3. » 36
4. = 9

Question Number : 86 Question Id : 54592730184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Thevalueof 24 +06x 3+ 2 x 8is:

Options:

1. v 28
2. % 22
3. = 16
4. % 24

Question Number : 86 Question Id : 54592730184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

24 + 06 x 3 +2 x 8 F AT o

Options:

1. v 28
2. % 22
3. % 16
4. = 24

Question Number : 87 Question Id : 54592730185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A shopkeeper purchases some bulb for Rs. 180 and sold some
of it for Rs. 105. Find the remaining bulb he has?

Options:

1.v5
2. %7
3.% 12
4. % 15

Question Number : 87 Question Id : 54592730185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Zehlear & F5 gea 180 T H =N MR $ 105 £ )
# o Ul SABT GHEER & U fohdel sew AW &7

Options:

1. v 5
2. % 7
3. % 12
4. = 15

Question Number : 88 Question Id : 54592730186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Z 1s the largest 4 digit number, which when divided by 4, 5, 6
and 7 leaves remainder as 2, 3, 4, and 5 respectively. What
will be the remainder when 7 is divided by 11?

Options:

1. =1
2.v0
3.% 4
4. % 10

Question Number : 88 Question Id : 54592730186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Z, 4 3R hT g0 SET OEAT E, 9 4, 5, 6 duT 7 ®
Fisra st I ANFer FHL: 2, 3, 4 dAT 5 37T &1 I« Z
Fr 11 & Riaa *ar S, ar 9%l =T &1Em?

Options:

1. % 1
2. v 0
3. % 4
4. % 10

Question Number : 89 Question Id : 54592730187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What least number must be added to 4000 to obtain a
number exactly divisible by 17?

Options:

1. = 15
2. %14
3.% 13
4. v 12

Question Number : 89 Question Id : 54592730187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4000 & FHA-H-FH i AT T&AT AlSaT dgv Ea ok urea
gEar 17 8 araa ar?

Options:

1. = 15
2. = 14
3. % 13
4. v 12




Question Number : 90 Question Id : 54592730188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A number when divided by 361 leaves 23 as a remainder. The
same number when divided by 19 leaves Y as the remainder.
Find out the value of Y?

Options:

1.%5
2.% 3
3.1
4. 4

Question Number : 90 Question Id : 54592730188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST RdT 9&aT S 361 @ RAuiaa AT S1aTr & ar 9v%he 23
FIAAT &1 I AT AT &r 19 8 Foioa forar Sar &, ar Y
Aol ST &1 Y T AT AT hITSAT|

Options:

1. = 5
2. % 3
3. % 1
4. v 4

Question Number : 91 Question Id : 54592730189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average price of 18 pencils are Rs.9. If three pencils of
prices Rs.4, Rs.7 and Rs.13 are excluded, what is the average
price of the remaining pencils?

Options:

1. v Rs. 9.2
2. % Rs. 9.5
3. % Rs. 8.7



4. % Rs. 10.3

Question Number : 91 Question Id : 54592730189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

18 Uf8er 1 3ad FrAT 9 T 1 I 4 T, 7 39 3N
13 90 Hed T el GfEell 1 ger fear s, ar Oy dfdel
$1 Mraa FrAEa F4T B2

Options:

1. v 9.2 39
2. = 9.5 ¥qF
3. % 87 3q&
4, = 10.3 3

Question Number : 92 Question Id : 54592730190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Zoo has an average of 630 visitors on Sundays and 311 on
other days. The average number of visitors per day in the
month of February of 29 days beginning with a Monday is:

Options:

1. = 372
2. v 355
3. = 402
4. = 428

Question Number : 92 Question Id : 54592730190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

veh Fafgamer # Iaar w1 3eder 630 3T 3T 3o fea
AT & 311 IWEIGF 3 & AAIR & qF gl drel 29 fear
% WA & A H Ui T merqeRt dr sea T g

Options:



1. = 372
2. v 355
3. = 402
4. = 428

Question Number : 93 Question Id : 54592730191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper marked the price of a coffee cup and a tea cup
in the ratio 5 : 3. He sold them at 12% and 10% discount
respectively. The difference between the selling prices of a
coffee cup and a tea cup is Rs.85. What is the difference
between their marked prices?

Options:

1. = Rs. 200
2. v Rs. 100
3. = Rs. 150
4. = Rs. 400

Question Number : 93 Question Id : 54592730191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk gehTelel o 5: 3 & 3edld H T FIl T 3R Tk I &
T T FIAT Fr RTAT FaTI 39 3o FaAen 12% 31T 10%
T B IT STl Ush It T A Tk AT FT Fr foshr $r
HIACT & ST T X 85 YT ¢l 3alah 3ifhd Hedl & &
3T AT g7

Options:

1. = 200 9
2. v 100 39




3. = 150 9
4. = 400 s

Question Number : 94 Question Id : 54592730192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an order to produce 12000 bulbs, a company produced
7.5% of the first 8000 bulbs defective and 4% of the next 4000
bulbs defective. Find out the total percent of non-defective
bulbs produced by company?

Options:

1. = 6.33 percent
2. % 8 percent

3. v 93.67 percent
4. = 92 percent

Question Number : 94 Question Id : 54592730192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12000 sl T 3cUlcel la H, Teh hUal o Ugel 8000 Seal
H 7.5% Sea ool 3T 30Tl 4000 sosl # 4% Sed aroqol
Scdriee FRA| el Scuree T fohctell Ufcrerd, uelr o IR-
SISl Sesll 1 Scqlgel fhar?

Options:

1. »= 6.33 gfaerd
2. » 8 yfderd
3. v 93.67 wfcerd
4. % 92 wfrerd

Question Number : 95 Question Id : 54592730193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The population of a colony increased by 8% in the first year
and increased by 10% in the second year. Now the population
1s 5346. What was the population of the colony two years ago?

Options:

1. = 4100
2. % 3800
3. = 4250
4, v 4500

Question Number : 95 Question Id : 54592730193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Shiellall T 3METET Ugel @Y H 8% &¢I 3N g@¥ ay # 10%
FET| T TATEIT 5346 &1 &y Tl Ugol hiailal hl STTa&l

ToRrdaT 277

Options:

1. = 4100
2. = 3800
3. = 4250
4. v 4500

Question Number : 96 Question Id : 54592730194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the three students A, B and C, A scored 60% more than C. B
scored 25% more than €. The sum of the marks of all the
three is 770. Find the score of A.

Options:

1.+ 320
2. % 250
3. % 330



4. % 275

Question Number : 96 Question Id : 54592730194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T oA A, BIRCHEE A C I B0 % AUF 3+ wred
fFU. B o C @ 25 % 3faF 37k uread forw | fial & 37ehT T
9T 770 &1 A & UTTT b ATT H

Options:

1. v 320
2. = 250
3. » 330
4. = 275

Question Number : 97 Question Id : 54592730195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Amar bought some mangoes at the rate of Rs.26 per four
mangoes and same number of mangoes at the rate of Rs.51
per six mangoes. He sold all the mangoes at the rate of Rs.45
per five mangoes. What is his profit percentage?

Options:

1. = 25 percent
2. % 16.67 percent
3. = 15 percent
4. v 20 percent

Question Number : 97 Question Id : 54592730195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT A FS AT FT 26 TR UfT N AT kT T F @lrer
AT HTAT FT ST & FEIT A 51 9 UfT S AT FT T &
TIET| 3T Tl AT 45 TU ufad U 3TH ST &7 & ST
3HPT o UTaerd 4T 87

Options:

1. = 25 giqerd
2. = 16.67 ufcera
3. = 15 yfaera
4. v 20 gfaera

Question Number : 98 Question Id : 54592730196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The marked price of a product is Rs.900 more than its cost price. When a discount
of Rs.500 is given then the percentage of profit is 15 %%. At what price should it
be sold to obtain 40% profit?

Options:

1. v Rs. 3640
2. » Rs. 2600
3. # Rs. 2850
4. %= Rs. 3100

Question Number : 98 Question Id : 54592730196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 3cuig 1 A AT 3ER Rt JAed I $.900 3ES g1 o1 $.500
ge & Sl & ot et T SfaRra 15 =% T ¥1 40% @ Sed = F forw
=8 fopd HAed W &9 ST Glige?

Options:

1. v 3640 ¥
2. = 2600 ¥9



3. = 2850 ¥
4. = 3100 &9

Question Number : 99 Question Id : 54592730197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper bought a LED TV marked at Rs.21000 after two
successive discounts of 20% and 5% respectively. He spent
Rs.800 for its delivery to his shop and sold for a profit of 15%.
What will be its selling price?

Options:

1. = Rs. 18400
2.v Rs. 19274
3. = Rs. 20144
4. % Rs. 21235

Question Number : 99 Question Id : 54592730197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk gehleie ol A 20% 3N 5% Hr & g + s 21000
Tt H 3ifeRd Uk TorssT Erar ATl 38 379 gehTel W
fEelad & fov 800 s9 = forv 3T 15% o o 9¥ s e

| SO [ORT He T T Bam?

Options:

1. = 18400 &9
2. v 19274 ¥
3. = 20144 ¥
4, = 21235 39&

Question Number : 100 Question Id : 54592730198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The ratio of weights of three friends Vivek, Vikas and Vikram
1s 14 : 15 : 17. The sum of the weights of Vivek and Vikram is
40 kg more than the weight of Vikas. Find the weight of Vikas.

Options:

1. =« 30 kg
2. % 45 kg
3.v375kg
4, % 22.5Kkg

Question Number : 100 Question Id : 54592730198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofiet aredt fader, fashre 3T foshA & aofel s 3fe[dTed 14: 15:
17 &1 Ba+ 3K @A & goid T AT BT & gotad T 40
frall TR &1 [9RT &7 goid ATd I |

Options:

1. = 30 Terell
2. » 45 foRalY
3. v 37.5 Tohell
4. = 22.5 feralY

Arithmetic Ability?2
Group Number : 6
Group Id : 5459271496
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability?2

Section Id : 5459271496

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271794
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592730199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of present ages of A and B is 6 : t. Five years ago the
age of B was 28 years. The sum of their ages after two years
will be 55 years. What is the value of t?

Options:

1. % 15
2.% 0
3.% 13
4. v11

Question Number : 101 Question Id : 54592730199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3T B T GIATe 3 T AT 6: t §1 9T HTel Igel B
T 37 28 T Y| a1 a¥ & FIE 3kl 3P FT AET 55 a9 gen

| t T ATT FAT &7

Options:

1. = 15
2. » 6
3. % 13
4. v 11




Question Number : 102 Question 1d : 54592730200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an examination, a student got selected if he secured 324
marks out of maximum marks P. If the maximum marks are
700, then the student would have secured 567 marks. What is
the value of P?

Options:

1. = 500
2. % 600
3. v 400
4. = 550

Question Number : 102 Question 1d : 54592730200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh THIET H, Ueh ©TF TATad & AT T 39 HTAhdH 37eh!
P & & 324 31 urea foevl afe 3ifSerad 3% 700 g, ar o
o 567 3 WIed Tohw &9 P T AT 24T 87

Options:

1. = 500
2. = 600
3. v 400
4. = 550

Question Number : 103 Question Id : 54592730201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What amount of compound interest can be earned on Rs.10500 at the end of two years
if the rate of interest for the first years is 14% % per annum and 12% per annum for the

second year?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. Rs. 4620



2. Rs. 4550
3. Rs. 4800
4. Rs. 5110

Question Number : 103 Question Id : 54592730201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

al a¥ & 37 H 3.10500 F FI RN W Fhclm Tshdefed sarer feia Fhar
ST FaT § Afe $oT a¥ & AT st # a¥ 142% gfd av i g@y 9 &
AT 12%9fd af &2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 4620 39
2. 4550 ¥
3. 4800 ¥
4. 5110 ¥

Question Number : 104 Question Id : 54592730202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In three years Rs.7000 amounts to Rs.9940 on simple interest
at r% per annum. In what time will Rs.4200 amounts to
Rs.5964 on simple interest at r% per six months?

Options:

1. = 2 years
2. % 1 year

1
15 years

3.

J
B | e

years

Question Number : 104 Question Id : 54592730202 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

diel ¥ & 7000 S ETYNOT AT 9T r % Wid a¥ hr &7 &
9940 T & STaT &1 Tohdel AT H 4,200 9 Hr Tfer r
gicrerd Wi &8 Al ol &g 8 5964 U & SAT9ai?

Options:

1. = 2 @y

2. = 1 ay

3&?133&

b2
B | b

Question Number : 105 Question 1d : 54592730203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the compound interest and simple
interest on an amount of Rs. 18000 in two years is Rs. 405.
What would be the compound interest accrued on an amount
of Rs. 8000 at same rate of interest for 2 years?

Options:

1. » Rs. 2140
2. % Rs. 2260
3. = Rs. 2400
4. v Rs. 2580

Question Number : 105 Question 1d : 54592730203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar a¥ & 18000 9 T AT W Tehgla AT 3T ATIROT
1o o 81T T 3dY 405 39T &1 2 ¥ & Tolv AT sATeT X
oY 8000 9 T TR UT 3Toicd Tehgig sATST AT BIaM?




Options:

1. = 2140 392
2. % 2260 TU}
3. * 2400 T
4. v 2580 TTA

Question Number : 106 Question Id : 54592730204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In covering a certain distance, the speed of Ankita and Babita
are in the ratio of 3 : 4. Ankita takes 30 minutes more than
Babita to reach the destination. The time taken by Ankita to
reach the destination 1is:

Options:

1. = 1 hour
7 % lghmn

3. v 2 hours

Zihmﬂ
2

4,

Question Number : 106 Question Id : 54592730204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toh [afad IMET Sl e & o 3ifrar g sear r afaar
FT 3Te[UT 3 : 4 §| 3Rl ITqey dqwqgﬂﬁﬁa‘qﬁmﬁ%
fAde MO ofdr &1 sa 3tfrar gany foam arar gag fohdan
&7

Options:

1. = 1 "I




Question Number : 107 Question Id : 54592730205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Walking at 5 km/hr Shiv reaches his school from his house 15
minutes early and walking at 3 kim/hr he is late by 9 minutes.
What is the distance between his school and his house?

Options:

1. = 6 Km
2. % 4 km
3. v3km
4. = 5 km

Question Number : 107 Question Id : 54592730205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 freifeer %1 aifd & 379e & & Thol S W &7 15 fAere
STed) qé’ﬂdl%’ﬁﬂTSﬁfﬁaﬁmWQﬁmﬁs’rm
gl 38F U 9 UISeTell & S T I AT He

Options:

1. = 6 feraAT
2. % 4 TRaAT
3. v 3 foraY
4, = 5 TRaAT




Question Number : 108 Question Id : 54592730206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The distance between two cities Rampur and Shyampur is 330
km. A train starts from Rampur at 8 a.m. and travels towards
Shyampur at 60 km/hr. Another train starts from Shyampur
at 9 am. and travels towards Rampur at 75 km/hr. At what
time do they meet?

Options:

1. = 10:30 AM
2. % 10:45 AM
3.+ 11:00 AM
4. % 11:45 AM

Question Number : 108 Question Id : 54592730206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el TTel TAYY TAT eATAYT & sirer 67 gfr 330 FRaAT. &1 v
ToramsT TAYT & UTel: 8 sl 60 foral/ere &7 arfer & eArAqT hr
3 TAT TF 3 Tel@ms] I1d: 9 Fof ATHYT & TAYT I 3T
75 TorA/Ee =T a1 & Toidl &1 s e AT o fHAelel?

Options:

1. = 10:30 AM
2. » 10:45 AM
3. v 11:00 AM
4. = 11:45 AM

Question Number : 109 Question 1d : 54592730207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



E,F & Gcando aworkin 12, 15 & 30 days. They all together
start the work, after 3 days E left the work, next after 2 days F
left the work. Then in how many days, G completes the rest
work.

Options:

1. = 8 days
2. = 12 days

1
Tl T
3 v 73 days

4. = 6 days

Question Number : 109 Question Id : 54592730207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

E, Fa G fordr 1 &7 12, 15 7 30 &l & T @ha &1 @
Tl T F1H UF T g1 3 T e E FA BI5 21 §, 30T
2 ot 915 F %1 S5 3T &1 Y & G forda feat & qu

HLIM?

Options:

1. = 8 f&a
2.« 12 fed
?%ﬁ?{

3. ¢

4. = 6 &7

Question Number : 110 Question Id : 54592730208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



7 Indian and 4 Chinese finish a job in 5 days. 7 Japanese and 3
Chinese finish the same job in 7 days. Given that the
efficiency of each person of a particular nationality is same
but different from others. Two Indian, two Chinese and two
Japanese will complete the work in?

Options:

lﬂida}rs
1. & 12

o
10—_day=
7 & 24 4

6
10— days
I B T

T
10 —da
12 e

4. =

Question Number : 110 Question Id : 54592730208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 AT 94T 4 IREaTel S & & 5 G & Fd &1 7
STITeitsl J2UT 3 IRgeitel 38T R FT 7 fdad # Q@ L &
fo=m =T & T U T F gl safeaat s FiETHar v
HHTA &, foh] 3o T & =AfFadl @ @isfer § ar A Hifew
2 AN, 2 IREeST a7 2 ST9mer 38T F7 & forde fgat #
T HIaT?

Options:

1 mi‘i“a[—rr

w12




24

3. % 1l

10—
5 Taet

Question Number : 111 Question Id : 54592730209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do 1/4 of a work in 10 days. B can do 1/3 of the work in
20 days. In how many days can both A and B together do half
of the work?

Options:

1.~ 12 days
2. = 18 days
3. = 6 days

4. = 24 days

Question Number : 111 Question Id : 54592730209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Th FRT & 1/4 AT &1 10 T H T GohaT &1 B T &
1/3 ¢1T9T T 20 &7 A FT Tkl &1 A 3T B g FHeee 39
R T AT Fohda el H T ot &7

Options:

1. v 12 Tea
2. = 18 f&a
3. = 6 e




4. = 24 T

Question Number : 112 Question Id : 54592730210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The sector of a circle has radius of 28 cm and central angle 90.
Find its perimeter.

Options:

1. = 78 cm
2.+ 100 cm
3. % 56 cm
4, = 28 cm

Question Number : 112 Question Id : 54592730210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fReT gea@s #r Bear 28 AT 3 FET Hror 90 §1 sHhT
gRfa ATT SHIev]

Options:

1. = 78 QAT
2. v 100 @AY
3. » 56 AT
4. = 28 @AY

Question Number : 113 Question Id : 54592730211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The surface area of the three coterminous faces of a cuboid
are 12, 18, 6 square cm respectively. Find the volume of the
cuboid.

Options:

1. = 24 cube cm
2. % 32 cube cm
3. v 36 cube ¢



4, « 42 cube cm

Question Number : 113 Question Id : 54592730211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk UelTH o did Tolddd Tdg T &9%ha AT 12, 18, 6 Far
TAT &1 TATH T IRTdAT AT hIToTT|

Options:

1. % 24 =T AT
2. = 32 ge AT
3. v 36 g @AY
4. = 42 G QAT

Question Number : 114 Question Id : 54592730212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If an error of 10% excess 1s made in calculating the side of a
square, the % error in its area 1s :

Options:

1. = 12 Percent
2. v 21 Percent
3. » 20 Percent
4. = 14 Percent

Question Number : 114 Question Id : 54592730212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

afg et et & sfatm & ao1ar e # 10% 3&F ATy STl
g, o 38k &ahel # diderd I &

Options:

1. = 12 gidera
2. v 21 uiaerd
3. = 20 ufqera




4. = 14 gfJera

Question Number : 115 Question Id : 54592730213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the given figure,If monthly income is Rs 50000, then how
much is spent (in Rs) on Fuel?

Options:

1. = 12000
2. v 10000
3. % 13500
4. » 15000

Question Number : 115 Question Id : 54592730213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e a7 = 7 afg Arf¥s 3m 50000 &9 &, aF 39«7 WX
forcer =T (39 A) ﬁa—cl?ngarrr%?

Options:



1. = 12000
2. v 10000
3. = 13500
4. = 15000

Question Number : 116 Question Id : 54592730214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the table carefully and answer the questions given
below:

Yearly production (in thousands) of scooters in different

factories
Factory 1985 1986 1987 1988 1989
P 20 15 24 13 17
Q 16 23 41 20 15
R 14 21 30 16 12
S 25 17 15 12 22
T 40 32 39 41 35
Total 115 108 149 102 101

In which year, the production of scooters of all factories was
equal to the yearly average number of scooters produced

during 1985-89?

Options:

1.+~ 1985
2. % 1986
3. = 1987
4, = 1988

Question Number : 116 Question Id : 54592730214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Tt Rl 1 GEar @ weaT & 3ca} AT aI¥e 3cuTeeT
(faffieet FRATET A Thedl T TEAT g/ H)

FHHETAT 1985 1986 1987 1988 1989
P 20 15 24 13 17
Q 16 23 41 20 15
R 14 21 30 16 12
5 25 17 15 12 22
T 40 32 39 41 35
F 115 108 149 102 101

fFT a¥ A @ell hR@ETET A Thedl T TEAT 1985 & 1989 &
gt # AT 96T & se o4

Options:

1. v 1985
2. = 1986
3. = 1987
4. = 1988

Question Number : 117 Question Id : 54592730215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

Water level of three Rivers (in meters) in three different

Months
Ganga | Yamuna | Narmada
Jan 196 202 196
Feb 205 224 210
March 230 211 230

What was the respective ratio between the water level of
Narmada in March and the water level of Yamuna in Jan?

Options:

1. = 105 :

2. % 115

3. v115;

4, % 112

a1
: 27
101
17

Question Number : 117 Question Id : 54592730215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeali@d weal T 3 &1 & oI Fau=gas I FT
eI R

3TCET-37619T il Hglal H Al ATedl T SToleal (FAleT #H)

e THAT | FAHGT
STeTa 196 202 196
et 205 224 210
P 230 211 230

AT AT o STeedd 3R STeadl # IHAT h STorecT & s
SHHRM: 3efUTd F1 AT?

Options:

1. = 105 : 91
2. % 115 : 27
3. v 115 : 101
4. 112 : 17

Question Number : 118 Question Id : 54592730216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

The given graph represents the data of students who studied
in different colleges.

450

450

400

350

350 -

300

250

200

150

100

50

T T T
College A College B CollegeC ColiegeD ColiegeE

B Mumber of Studentsin 2011 B Number of Studentsin 2012

If 10% of the students studying in college B did not take the
exam in 2011, then find the number of such students.

Options:

1. = 35
2. % 36
3. v 40
4 % 38

Question Number : 118 Question Id : 54592730216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeali@d weal T 3 &1 & oI Fau=gas I FT
eI R

feT 91T AT STAT F 3RS hr E20TdT &, S AT hiolel H

e &l

IfE Fiotel B H Ug @ 10% T 2011 & gdieqm 14 2 &, ar
T ST T TEIAT AT M|

Options:

1. = 35
2. » 36
3. v 40

500

[=)
T~

450
=
T

L=
L
= =
=
o P'D"l-
400 s = =
m
350 - L
L]
300
250
200
150 -
100
50
0 - T T T

Tl A T B FleaA ¢ FEA O

=011 o ST EEr #2012 # =TE ofr §Em

4. = 28

Question Number : 119 Question Id : 54592730217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

Number of male and female participating in a function from
different cities A, B, C, and D

s [ G [ e FE 3 2
500 575
475 a0

i 500 - Fats)
= =0 475 430

400
-4
S 300
E 200
=
=

100

0
A B i ]

Cities

The number of female participating in the Function from city
B is approximately what percent of the total number of
people participating in the Function from that city?

Options:

1. v 49 percent
2. » 47 percent
3. = 45 percent
4. = 43 percent

Question Number : 119 Question Id : 54592730217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fAraATaT geall T 3cca et & folv ATaumiigash I T

eI i

M A, B, C 3K D & Uk TARIE H $T et qlel T&Y 3T
ARSI hT T&AT

gy = HREAT

=

500 550

475 50
500 1 = 535
430
E — 475
& 300
E 200
100
0 :
A B c D

ey B @ ARG H HET of I8 A3 shr 9&dr, 387 98 8§
HARIE # 19T of @ Fol ool hl TEAT AT fevctarr wfererd &7

Options:

1. v 49 gigera
2. % 47 wfaerd
3. = 45 gfaera
4. % 43 wfaerd

Question Number : 120 Question Id : 54592730218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

Population (in thousands) of a State over the years

200
160
o 160
150 134
132 15
128
100
50
{} T T T T T
2003 2004 2005 2006 2007 2008

What is the approximate percentage rise in population of
state in 2007 from 2004?

Options:

1. = 25
2. % 30
3. % 28
4. v 21

Question Number : 120 Question Id : 54592730218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd
ATH T AT Fi]

feu a7 aut # Uk TUoT T FAAGEAT (TR H)

200
160
] )
150 134
M I
128

100

50

{} T T T T T
2003 2004 2005 2006 2007 2008

2004 & 2007 A TUT FT T9TEIT H oRTHIT Fohder wiaera hr

Options:
1. » 25
2. % 30
3. = 28
4, v 21
General Englishi
Group Number : 7
Group Id: 5459271497
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 5459271497

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271795
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592730219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Once the wettest place on Earth, Cherrapunji, a town in
northeastern India, has face a drought each winter for the
past few years.

Options:

1. = Once the wettest place

2. = a town in northeastern India,
3. v has face a drought each winter
4. = for the past few years.

Question Number : 121 Question Id : 54592730219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options:

Once the wettest place on Earth, Cherrapunji, a town In
northeastern India, has face a drought each winter for the

past few years.

Options:

1. = Once the wettest place

2. % a town In northeastern India,
3. v has face a drought each winter
4,

« for the past few years.

Question Number : 122 Question 1d : 54592730220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

A new study shows that goats can differentiate between other
goats’ happiness and displeasure by listening to its voices.

Options:

1. = A new study shows that goats

2. = can differentiate between other goats’
3. = happiness and displeasure by

4. « listening to its voices.

Question Number : 122 Question Id : 54592730220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options:

A new study shows that goats can differentiate between
other goats’ happiness and displeasure by listening to its

volces.

Options:

1. = A new study shows that goats

2. » can differentiate between other goats’
3. = happiness and displeasure by
4,

v listening to Its voices.

Question Number : 123 Question 1d : 54592730221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

The groundwater that provides an invaluable buffer between
monsoons is severely depleted and in danger of irreversibly
lost.

Options:

1. * The groundwater that provides

2. = an invaluable buffer between monsoons
3. » 1s severely depleted and

4. v In danger of irreversibly lost.

Question Number : 123 Question Id : 54592730221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options:

The groundwater that provides an invaluable buffer between
monsoons Is severely depleted and in danger of irreversibly

lost.

Options:

1. = The groundwater that provides
2. = an Invaluable buffer between monsoons
3. = I1s severely depleted and

4. v In danger of irreversibly lost.

Question Number : 124 Question 1d : 54592730222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

How animals perceive the world round them is still a mystery
to us in so many ways.

Options:

1. * How animals perceive
2. v the world round them
3. = 1s still a mystery to

4. » Us In S0 many ways.

Question Number : 124 Question Id : 54592730222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options:

How animals perceive the world round them s still a

mystery to us in so many ways.

Options:

1. * How animals perceive
2. v the world round them
3. # Is still a mystery to

4. = Us In SO mMany ways.

Question Number : 125 Question Id : 54592730223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Kerala, a state in the southwest, flooded devastatingly in 2018,
and saw its wells run dry soon after.

Options:

1. = Kerala, a state in the

2. = southwest, flooded devastatingly
3. v 1n 2018, and saw its wells

4. = run dry soon after.

Question Number : 125 Question Id : 54592730223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options:

Kerala, a state in the southwest, flooded devastatingly In

2018, and saw its wells run dry soon after.

Options:

1. = Kerala, a state In the
2. % southwest, flooded devastatingly
3. v In 2018, and saw Iits wells

4. = run dry soon after.

Question Number : 126 Question Id : 54592730224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Plastic wrap contributes to the larger plastic pollution crisis, it’
s difficult to recycle, and its make from potentially harmful
chemicals.

Options:

1. v it’s made from

2. = its make for
3. = 1t’s make from
4. = No substitution required

Question Number : 126 Question Id : 54592730224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

Plastic wrap contributes to the larger plastic pollution crisis,

it's difficult to recycle, and its make from potentially harmful

chemicals.

Options:

1. v It's made from
2. % Its make for
3. % |t's make from

4. = No substitution required

Question Number : 127 Question Id : 54592730225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The subspecies of giraffes has decline by nearly 50 percent in
the last 30 years, largely because of poaching and changes in
land use.

Options:

1. = have decline by near 50 percent

2. v have declined by nearly 50 percent
3. = has decline by near 50 percent
4. = No substitution required



Question Number : 127 Question Id : 54592730225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

The subspecies of giraffes has decline by nearly 50 percent

In the last 30 years, largely because of poaching and

changes In land use.

Options:

1. = have decline by near 50 percent
2. v have declined by nearly 50 percent
3. * has decline by near 50 percent

4. = No substitution required

Question Number : 128 Question Id : 54592730226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Giraffe deaths have also increased because human
populations has grow and expand into what used to be wild
lands.

Options:

1. = has grown and expand into

2. * have grow and expanded
3. v have grown and expanded into



4. = No substitution required

Question Number : 128 Question Id : 54592730226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

Giraffe deaths have also increased because human

populations has grow and expand into what used to be wild

lands.

Options:

1. = has grown and expand Into
2. » have grow and expanded
3. v have grown and expanded Into

4. = No substitution required

Question Number : 129 Question Id : 54592730227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

In order to make plastics softer, more flexible, and more
transparent, they are often mixed with plasticizers,
particularly for food packaging.

Options:

1. = it is often mixed from

2. = they are often mix with



3. » Its often mix for
4. v No substitution required

Question Number : 129 Question Id : 54592730227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

In order to make plastics softer, more flexible, and more

transparent, they are often mixed with plasticizers,

particularly for food packaging.

Options:

1. = It Is often mixed from
2. = they are often mix with
3. = |ts often mix for

4. v No substitution required

Question Number : 130 Question 1d : 54592730228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

We didn't have plastic 70 years ago, and then in the post-war
boom, you had chemists whose were going to provided us
with this brave new world.

Options:

1. v who were going to provide us with




2. * whom was going to provided us with
3. * who were going to provided us with
4. = No substitution required

Question Number : 130 Question Id : 54592730228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

We didn't have plastic 70 years ago, and then In the

post-war boom, you had chemists whose were going to

provided us with this brave new world.

Options:

1. v who were going to provide us with
2. » whom was going to provided us with
3. * who were going to provided us with

4. = No substitution required

Question Number : 131 Question Id : 54592730229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The uneven distribution of population in the world has
severely the fragile ecological balance in many
countries.

Options:

1. v affected
2. = effected



3. = affect
4, = effect

Question Number : 131 Question Id : 54592730229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The uneven distribution of population in the world has

severely the fragile ecological balance in many

countries.

Options:

1. ¢

affected
effected
affect

effect

Question Number : 132 Question Id : 54592730230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

India being a democratic welfare state is committed
provide jobs for as many people as it can.

Options:

1. = for

2. v 10

3. = 1In
4, = by

Question Number : 132 Question Id : 54592730230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

India being a democratic welfare state I1s committed

provide Jjobs for as many people as It can.

Options:

1. = for
2. v to
3. % In

4. = by

Question Number : 133 Question Id : 54592730231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The alarming trend of migration and the exorbitant rental
value do not permit the urban poor to afford a roof their
heads.

Options:

1. » upon
2. * beyond
3. v over

4. = along

Question Number : 133 Question Id : 54592730231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The alarming trend of migration and the exorbitant rental
value do not permit the urban poor to afford a roof

their heads.

Options:

1. = upon
2. % beyond
3. v over

4. = along

Question Number : 134 Question Id : 54592730232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Child labour can’t be totally eradicated itis
supplemented by comprehensive socio-economic programmes.

Options:

1. = if

2. % hut

3. =asif
4. v unless

Question Number : 134 Question Id : 54592730232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Child labour can’t be totally eradicated it Is

supplemented by comprehensive socio-economic programmes.

Options:

1. = If

2. = but

3. = as If
4. v unless

Question Number : 135 Question Id : 54592730233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Wages are now paid to prisoners at some places but the
amount earned is nominal and offers any incentive or
encouragement.

Options:

1. v hardly
2. = grimly
3. = evenly
4. = extremely

Question Number : 135 Question Id : 54592730233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Wages are now paid to prisoners at some places but the

amount earned I1s nominal and offers any

Incentive or encouragement.

Options:

1. v hardly
2. % grimly
3. ® evenly

4. = extremely

Question Number : 136 Question Id : 54592730234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The deterrent value of death penalty has been a subject of
intense inconclusive debate.

Options:

1. = since
2. v though
3. = even if
4. = until

Question Number : 136 Question Id : 54592730234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The deterrent value of death penalty has been a subject of

intense inconclusive debate.

Options:

1. = since
2. v though
3. % even If

4. = until

Question Number : 137 Question Id : 54592730235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

the fact that the capture and sale of spiny butterfly rays
are illegal, it is one of the main threats faced by them.

Options:

1. = In spite
2. = Unless
3. v Despite
4. = Beside

Question Number : 137 Question Id : 54592730235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

the fact that the capture and sale of spiny

butterfly rays are lillegal, it 1Is one of the main threats faced

by them.

Options:

1. = In spite
2. » Unless
3. v Despite
4. = Beside

Question Number : 138 Question Id : 54592730236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The aquarium has the role of showing people threatened
species and helping them understand the importance of
conservation.

Options:

1. = its

2. = theirs
3. = there
4, v their

Question Number : 138 Question Id : 54592730236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The aquarium has the role of showing people threatened
species and helping them understand the importance of

conservation.

Options:

1. = Its

2. # theirs
3. = there
4. v their

Question Number : 139 Question Id : 54592730237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: T report what I see at boot level along the pathways of our
original discovery of the planet.

B: In the winter of 2013 I set out from an ancient site and
began retracing, on foot, the defining journey of humankind.
C: From the start, I knew my route would be vague.

D: My long walk is about storytelling

Options:

1. v BDAC
2. » BACD
3. = BCAD
4. = BCDA

Question Number : 139 Question Id : 54592730237 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to

form a meaningful paragraph.

A: | report what | see at boot level along the pathways of
our original discovery of the planet.

B: In the winter of 2013 | set out from an ancient site and
began retracing, on foot, the defining journey of humankind.
C: From the start, | knew my route would be vague.

D: My long walk I1s about storytelling

Options:

1. v BDAC
2. = BACD
3. = BCAD
4. = BCDA

Question Number : 140 Question Id : 54592730238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: A quarter of Bangalore’s population,

B: is not connected to the river water supply

C: living mostly on its periphery,

D: and is forced to mine groundwater to survive.

Options:

1. « ADCB
2. v ACBD



3. = ABCD
4. » ACDB

Question Number : 140 Question Id : 54592730238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: A quarter of Bangalore’s population,
B: i1s not connected to the river water supply
C: living mostly on its periphery,

D: and i1s forced to mine groundwater to survive.

Options:

1. = ADCB
2. v ACBD
3. = ABCD
4. = ACDB
General English2
Group Number : 8
Group Id: 5459271498
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
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Group Marks: 20
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General English2

Section Id : 5459271498

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271796
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592730239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: The most dramatic part of the eclipse arriving at 5:31 p.m.
ET.

B: Observers in Europe and Africa will witness the lunar
disappearing act on the night of July 16.

C: Now, 50 years to the day, people on Earth will be able to
commemorate that moment by watching the moon undergo a
deep partial eclipse.

D: On July 16, 1969, the crew of the Apollo 11 mission
launched on their historic trip to land the first humans on the
moon.

Options:

1. « DBCA
2. » DABC
3. v DCBA
4. = DCAB

Question Number : 141 Question 1d : 54592730239 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to

form a meaningful paragraph.

A: The most dramatic part of the eclipse arriving at 5:31
p.m. ET.

B: Observers In Europe and Africa will withess the lunar
disappearing act on the night of July 16.

C: Now, 50 years to the day, people on Earth will be able
to commemorate that moment by watching the moon
undergo a deep partial eclipse.

D: On July 16, 1969, the crew of the Apollo 11 mission
launched on their historic trip to land the first humans on

the moon.

Options:

1. = DBCA
2. = DABC
3. v DCBA
4. « DCAB

Question Number : 142 Question Id : 54592730240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Crooked

Options:

1. v Twisted



2. » Scattered
3. » Radiant
4. = Approved

Question Number : 142 Question Id : 54592730240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Crooked

Options:

1. v Twisted
2. = Scattered

3. » Radiant
4. = Approved

Question Number : 143 Question Id : 54592730241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Consolidate

Options:

1. = Strengthen
2. v Weaken
3. = Approve
4. = Disapprove

Question Number : 143 Question Id : 54592730241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Consolidate

Options:

1. = Strengthen
2. v Weaken
3. = Approve
4, = Disapprove

Question Number : 144 Question Id : 54592730242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Palatable

Options:

1. = Determined
2. = Celebrated
3. v Satisfactory
4. = Laughable

Question Number : 144 Question Id : 54592730242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Palatable

Options:

1. = Determined

2. = Celebrated



3. v Satisfactory
4. = Laughable

Question Number : 145 Question Id : 54592730243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Boisterous

Options:

1. v Restrained
2. » Reactive
3. = Indecent
4. = Probable

Question Number : 145 Question 1d : 54592730243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Boisterous

Options:

1. v Restrained
2. = Reactive

3. * |ndecent

4. = Probable

Question Number : 146 Question Id : 54592730244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the synonym of the given word.

Top-notch

Options:

1. = Pointed

2. v Excellent
3. = Genuine
4. = Obscene

Question Number : 146 Question Id : 54592730244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Top-notch

Options:

1. = Pointed
2. v Excellent
3. ® (Genuine

4. = Obscene

Question Number : 147 Question Id : 54592730245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Dureble
2. = Ductile
3. = Consign



4, = Egotist

Question Number : 147 Question Id : 54592730245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Dureble
2. = Ductile
3. = Consign
4. = Egotist

Question Number : 148 Question Id : 54592730246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Extort
2. v Irkseome
3. = Fervid
4. = Jaundice

Question Number : 148 Question Id : 54592730246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Extort
2. v Irkseome
3. = Fervid
4. = Jaundice

Question Number : 149 Question Id : 54592730247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the wrongly spelt word.

Options:

1. = Pedant
2. » Pogrom
3. v Seccede
4. = Rivulet

Question Number : 149 Question Id : 54592730247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the wrongly spelt word.

Options:

1. = Pedant
2. = Pogrom
3. v Seccede

4. = Rivulet

Question Number : 150 Question Id : 54592730248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Slap on the wrist

Options:

1. v A mild punishment or warning
2. = To attack physically

3. *» To annoy somebody

4. = Ask for money

Question Number : 150 Question Id : 54592730248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Slap on the wrist

Options:

1. v A mild punishment or warning.
2. » To attack physically.
3. = To annoy somebody.

4, = Ask for money.

Question Number : 151 Question Id : 54592730249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Keep your chin up

Options:

1. = To stay confident

2. v To improve one’s mood
3. = To be late

4. = To be 1in a bad mood

Question Number : 151 Question Id : 54592730249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Keep your chin up

Options:

1. = To stay confident.

2. v To improve one’s mood.



3. = To be late.
4. = To be In a bad mood.

Question Number : 152 Question Id : 54592730250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Hold your horses

Options:

1. = To avoid making a guess
2. = To hurry

3. v To be patient

4. = To take rest

Question Number : 152 Question 1d : 54592730250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Hold your horses

Options:

1. = To avoild making a guess.
2. % To hurry.

3. v To be patient.

4. = To take rest.

Question Number : 153 Question Id : 54592730251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of words
given.

An obsessive desire to set fire to things.

Options:

1. v Pyromania
2. = Megalomania
3. » Kleptomania
4. = Dipsomania

Question Number : 153 Question Id : 54592730251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

An obsessive desire to set fire to things.

Options:

1. v Pyromania

2. = Megalomania
3. = Kleptomania
4. = Dipsomania

Question Number : 154 Question Id : 54592730252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A person who abandons a religious or political belief or
principle.

Options:



1. » Cannibal
2. v Apostate
3. = Traitor
4. = Fatalist

Question Number : 154 Question Id : 54592730252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A person who abandons a religious or political belief or

principle.
Options:

1. = Cannibal

2. v Apostate
3. = Traitor
4. = Fatalist

Question Number : 155 Question Id : 54592730253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
givern.

The action of killing a king

Options:

1. = Fratricide

2. » Infanticide
3. v Regicide

4. » Matricide



Question Number : 155 Question 1d : 54592730253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

The action of killing a king

Options:

1. = Fratricide
2. = Infanticide
3. v Regicide
4. = Matricide

Sub-Section Number: 2
Sub-Section 1d: 5459271797
Question Shuffling Allowed : Yes

Question Id : 54592730254 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.
India is facing cone of its major and most serious water crisis.

After two consecutive years of weak monsocons, 330 million
people — a quarter of the country’s population — are affected
by a severe drought. With nearly 50 percent of India
grappling with drought-like conditions, the situation has been
particularly grim this year in western and southern states
that received below average rainfall.

According to the Composite Water Management Index (CWMI)
report released by the Niti Aayog in 2018, 21 major cities
(Delhi, Bengaluru, Chennai, Hyderabad and others) are racing
to reach zero groundwater levels by 2020, affecting access for
100 million people.

However, 12 percent of India’s population is already living the
'Day Zero' scenario, thanks to excessive groundwater
pumping, an inefficient and wasteful water management
system and years of deficient rains. The CWMI report also
states that by 2030, the country's water demand is projected
to be twice the available supply, implying severe water
scarcity for hundreds of millions of people and an eventual
six percent loss in the country's GDP.

The Unien government recently formed a new Jal Shakti
(water) ministry, which aims at tackling water issues with a
holistic and integrated perspective on the subject. The
ministry has announced an ambitious plan to provide piped
water connections to every household in India by 2024.

The ministry has set a tough target at a time when hundreds
of millions don’t have access to clean water. Aiming at laying
huge pipeline networks for water supply means that yet
again, we are giving more preference to infrastructure. Also,
the moot questions are: what will happen if there is no water
to supply? What will happen to all the wastewater that gets
generated?

We are valuing land more than water, neglecting our local
water bodies, which have either gone dry or encroached. Also,
in many Indian cities, water is not properly distributed. Some
areas of mega cities like Delhi and Mumbai are privileged to
get more than the standard municipal water norm of 150
litres per capita per day while other areas get 40-50.

Looking at the current situation, there is a need for a
paradigm shift. We urgently require a transition from this
supply-and-supply-more water’ provision to measures which
lead towards improving water use efficiency, reducing
leakages, recharging/restoring local water bodies as well as
applying for higher tariffs and ownership by various
stakeholders.

It is important to understand that managing the water
situation is not the job of only engineers but all stakeholders
including hydro geologists, economists, planners and most
importantly, communities themselves, But locals/citizens/
communities have a huge part to play. By keeping in check
our own usage and actions, we can contribute.

As for our decision-makers, they need to re-think: Are we
being sold dreams or realities?



Sub questions

Question Number : 156 Question Id : 54592730255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author of the given passage, which of the
following options is not responsible for the ‘Day Zero’
scenario in India?

Options:

1. ¥ Neglecting our local water bodies

2. » Years of deficient rains

3. » An inefficient and wasteful water management system
4. = Excessive groundwater pumping

Question Number : 157 Question 1d : 54592730256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Union government’s Jal Shakti’ ministry was formed
with an aim to:

Options:
1. = Take steps towards improving water use efficiency.

2. v Provide piped water connections to every household in
India by 2024.

3. » Provide access to clean water to every household in India.

4. = Supply more than the standard municipal water norm of
150 litres per capita per day

Question Number : 158 Question 1d : 54592730257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options 1s not true as per the given
passage?

Options:

1. = 50 percent of India is grappling with drought-like
conditions.



2. = By 2030, the country’'s water demand is projected to be
twice the available supply.

3. v Local citizens and communities have little role to play
when it comes to water management.

4. = The standard municipal water norm is of 150 litres per
capita per day.

Question Number : 159 Question Id : 54592730258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given passage, choose an option that is
closest in meaning to the word ‘grappling’ as used in the 1st
paragraph, 2nd line:

Options:

1. = Attacking
2. » Yielding

3. # Liberating
4. v Struggling

Question Number : 160 Question 1d : 54592730259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given passage is most likely to be taken from:

Options:

1. v A Newspaper

2. = A Blography

3. = A political journal

4. = An economic magazine

Question Id : 54592730254 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.

India is facing one of its major and most serious water

crisis.

After two consecutive years of weak monsoons, 330 million
people — a quarter of the country’s population — are affected
by a severe drought. With nearly 50 percent of India
grappling with drought-like conditions, the situation has been
particularly grim this year in western and southern states

that received below average rainfall.

According to the Composite Water Management Index
(CWMI) report released by the Niti Aayog in 2018, 21 major
cities (Delhi, Bengaluru, Chennai, Hyderabad and others) are
racing to reach zero groundwater levels by 2020, affecting
access for 100 million people.

However, 12 percent of India’s population is already living
the 'Day Zero' scenario, thanks to excessive groundwater
pumping, an inefficient and wasteful water management
system and years of deficient rains. The CWMI report also
states that by 2030, the country's water demand is projected
to be twice the available supply, implying severe water
scarcity for hundreds of millions of people and an eventual

six percent loss in the country's GDP.

The Union government recently formed a new Jal Shakti
(water) ministry, which aims at tackling water issues with a
holistic and integrated perspective on the subject. The
ministry has announced an ambitious plan to provide piped

water connections to every household in India by 2024.

The ministry has set a tough target at a time when
hundreds of millions don't have access to clean water.
Aiming at laying huge pipeline networks for water supply
means that yet again, we are giving more preference to
infrastructure. Also, the moot questions are: what will
happen if there is no water to supply? What will happen to

all the wastewater that gets generated?

We are valuing land more than water, neglecting our local
water bodies, which have either gone dry or encroached.
Also, in many Indian cities, water is not properly distributed.
Some areas of mega cities like Delhi and Mumbai are
privileged to get more than the standard municipal water
norm of 150 litres per capita per day while other areas get
40-50.

Looking at the current situation, there is a need for a
paradigm shift. We urgently require a transition from this
'supply-and-supply-more water' provision to measures which
lead towards improving water use efficiency, reducing
leakages, recharging/restoring local water bodies as well as
applying for higher tariffs and ownership by various
stakeholders.

It is important to understand that managing the water
situation is not the job of only engineers but all stakeholders
including hydro geologists, economists, planners and most
importantly, communities themselves. But locals/citizens/
communities have a huge part to play. By keeping in check

our own usage and actions, we can contribute.

As for our decision-makers, they need to re-think: Are we
being sold dreams or realities?



Sub questions

Question Number : 156 Question Id : 54592730255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author of the given passage, which of the
following options is not responsible for the ‘Day Zero’

scenario in India?

Options:

1. v Neglecting our local water bodies
2. = Years of deficient rains
3. = An Inefficient and wasteful water management system

4. = Excessive groundwater pumping

Question Number : 157 Question Id : 54592730256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Union government’s ‘Jal Shaktl” ministry was formed

with an aim to:

Options:

1. = Take steps towards improving water use efficiency.

2. v Provide piped water connections to every household In
India by 2024.

3. » Provide access to clean water to every household In

India.

4, = Supply more than the standard municipal water norm

of 150 litres per capita per day

Question Number : 158 Question Id : 54592730257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following options i1s not true as per the given

passage”
Options:

1. = 50 percent of India 1s grappling with drought-like

conditions.

2. » By 2030, the country's water demand Is projected to
be twice the available supply.

3. v Local citizens and communities have little role to play

when It comes to water management.

4. = The standard municipal water norm is of 150 litres per

capita per day.

Question Number : 159 Question 1d : 54592730258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given passage, choose an option that is
closest iIn meaning to the word ‘grappling’ as used In the

1st paragraph, 2nd line:

Options:

1. = Attacking
2. % Yielding

3. = Liberating
4. v Struggling

Question Number : 160 Question Id : 54592730259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given passage I1s most likely to be taken from:

Options:



1. v A Newspaper

2. = A Biography

3. = A political journal
4

. * An economic magazine

General Hindil

Group Number : 9
Group Id: 5459271499
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi1l

Section Id : 5459271499

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271798
Question Shuffling Allowed : Yes

Question Number : 161 Question 1d : 54592730260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T § PHUTT GHTY T SEIE DIF-4T 32

Options:

1. » FIGHAIE

2. * Taer




3. v U
4. % THMHaT

-,

Question Number : 161 Question Id : 54592730260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foead # FHIRT TATT T 3EEI0T hid-AT &7

Options:

Question Number : 162 Question Id : 54592730261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel G # & [T GTEr T ICTgLum i -4aT 82

Options:

1. v TSI
2. % 9Ig
3. = rAua
4. » TG

Question Number : 162 Question Id : 54592730261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el &T A O ol Y T 3STEI0T Hia-aT &7

Options:

1. v a1
2. % Ag

3.
4, » g

Question Number : 163 Question 1d : 54592730262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3fTerieley’ UEE § JSI 'S HaT g?

Options:

1. = 309
2. v Uqad
3. = fovf
4. = GTer

Question Number : 163 Question Id : 54592730262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfolsh’ ereg # SIST '3 AT 87

Options:

1. = 3o&ar

v Hcdd

2.
3. » Qo=
4.

Question Number : 164 Question 1d : 54592730263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sl # UL gl eiTaT 3?2

Options:
1.« S &
2. % dH

Question Number : 164 Question Id : 54592730263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eea] H 3UH @l ol g7

Options:

1.« s A
2. % 3T A




3. v U H
4. = el @l

Question Number : 165 Question 1d : 54592730264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STgT shaT T el hH TR ST TRT &1, g1 PpI-4T haT gt 52

Options:

1. « Tasiw fhar

2. v GpHD TshaT
3. * WA TshaT
4, = Il Tohar

Question Number : 165 Question 1d : 54592730264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STgl fshaT T el A 9T SR AT &1, &1 hieT-81 foham grer
&7

Options:

1. = Aoy foRam

2. v Hhdsw Todl
3. = AT foraT
4, % 3hAS TohaT

Question Number : 166 Question 1d : 54592730265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # ¥ Y TAaTil e DI-8T g7

Options:

1. » STLET
2.« MR
3. AT
4, v UAT

Question Number : 166 Question 1d : 54592730265 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

farar A @ 3[g GRATRT ose hieT-ar g7

Options:

aretready
2. = gracar
3. = QT
4. v guAT

Question Number : 167 Question Id : 54592730266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT TeleTIH STe(c; AT 87

Options:

1. = AT
2. % T
3. v I
4. % 3T

Question Number : 167 Question Id : 54592730266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QT T TeNH oreg AT &7

Options:

1. = Qi
2. = [l
3. v e
4, = 3TN

Question Number : 168 Question Id : 54592730267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3UGRd Telld ¥ [Xepd AT i Iid DI
TUDI Gl JUDIE BLd § &l




Options:

1. * IUBR
2. v B

3. x MIUHR
4. *» FEURR

Question Number : 168 Question Id : 54592730267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3y faeltw ¥ R Toamer #r gfd Fifere:

TR ST 3ThR hid & Gl

Options:

1. % 3elUhL

-

2. v IR
3. % ERITRR
4. % EFIRR

Question Number : 169 Question Id : 54592730268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # & 3790 TITICTelt e DIF-4T 32

Options:

1. % 3
2. % q
3. % O
4, v I

Question Number : 169 Question Id : 54592730268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fral A @ 31[g TR ee hia-ar g7

Options:

1. = AN




2. » Rg

0

3. % T
4. v E

Question Number : 170 Question Id : 54592730269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

" T I HITAT §3IT" aTpaiel o Telq Teh e[S gH:

Options:
1. » LAt

2. * Al
3. v Tad

4. = TIEATdT

Question Number : 170 Question Id : 54592730269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"E@Taerﬁmﬂmgw'amﬁra:ﬁvW%mam

1p.wag-c:eﬁ
2. = gadf
3. v MTaOT
4. = ardd

Question Number : 171 Question 1d : 54592730270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATel T 2Tec TG & el Teh Qe[S Tl 1 U

ST ghe-ghe gl AT Bl

Options:
1. * FUHIR
2. v @igd

3. * gt



4. » P

Question Number : 171 Question 1d : 54592730270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[l ofeq THg & folv v oreg ffEw:

ST %¢§—g¢§ &l =T Bl
Options:

1. * FUEER

2. v Tleg

3. = @A

4. % Poea

Question Number : 172 Question Id : 54592730271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & e N9 3

Options:

1. v Tided
2. % Tpetl
3. % T

4. % #lex

Question Number : 172 Question Id : 54592730271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIEET T eMTegeh 3797 &

Options:

1. v gfcera
2. = ferell
3. = dIg
4. = oY




Question Number : 173 Question Id : 54592730272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dhidger BT AT 37 3

Options:

1. % ITg3qHTe
2. % YIdIqHTg
3. v IqghdrT
4. % Jugendr

Question Number : 173 Question Id : 54592730272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ch“i‘qjsei T eMisgar HT &

Options:
1. * SIS
2. = Yfd3crg
3. v Scqehdl
4.«

Question Number : 174 Question Id : 54592730273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i AT 2re(c T Fgl 3rd Teene(w # & T AT

gﬁq?r
1. = ser-act
2. % deT-ATdT
3. % FEr-uar

4. v JeT-gRAT

Question Number : 174 Question Id : 54592730273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ﬂﬁrﬁ#ms‘fw ¢leg T Tal T ahed H T ITT:

|ﬂ(—_|-_;\q:é—_|-|

1. = SeT-sar
2. = SaI-ATdT
3. % SI-Todr

4. v SCT-GAT

Question Number : 175 Question Id : 54592730274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUGEd AEE, hl G ¥epd AT chl it ehl T

HGTCHT TTEfT ST <hr SRt Tl

Options:

I.WW
AL

3. % S
4. = Mot

Question Number : 175 Question 1d : 54592730274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3YZF UAeg ) SEER NeFT ATl HT i Hifav:

Wﬁtﬁsﬁw_aﬂm?m

Options:

1. = g
2. v Toae
3. % SleH



4, = foamg

Question Number : 176 Question Id : 54592730275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT & T BI-9T g aThT 37

1. = THTH &7 YT § ST thet 1]
2. v T 9T H 7 thel T

3. * X & WL H o1 TheT T
4. » GHYU &9 9T H 1T el AT

Question Number : 176 Question Id : 54592730275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & Fi-A7 A& a+T &7

Options:

1. = JATH 327 o & a1 e 1T
2. v 3% T H FIT Yiel IRAT|

3. » T 3 W A &1 el IR
4. « GFEOT 7 T A &1 Pl I-T

Question Number : 177 Question 1d : 54592730276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FETARET & & B-9T g aTHhd 32

1. » W 3R e i B Foier 3
2. « WA 3R o & IR Ferr B
3. v AR 97 S ¥ B dev B
4. » G Gy 3 QR 3T e

Question Number : 177 Question 1d : 54592730276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaiEd A & Fi-37 g aFT &7

Options:




1. = OIfged 3T Siaer # g g8 g
2. » gifgca 3T Siaer & o o &
3. v e M g & gess Iad &l
4. = O GoYT § Hiiged AT Siad Al

Question Number : 178 Question 1d : 54592730277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel G # 9 SITe[ T ATTel T T gHIT?

Options:

1. v S3MMST
2. » @t

3. % diea
4, % SIS

Question Number : 178 Question Id : 54592730277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeafaTad # & 19 1 FHIfeler T gHE?

Options:

1. v S3Tga
2. % qEET

3. = SIS
4. = SIS

Question Number : 179 Question Id : 54592730278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel G aTepd H TGiTche U, T era Dhi-aT g2
WIRT-YIH T 3 AT &gt g-

Options:
1. # Tehdd=
2. % Teaa




3. v Sgae

4, » g

Question Number : 179 Question 1d : 54592730278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTal@a araa 7 JEITohd S, T el hlod-aT &7

ART-[H 9T 37l Afedl agdr &-

Options:

1. = Uohddd
2. = fegaad
S.JEIET:EI?I'
4. » Hada

Question Number : 180 Question Id : 54592730279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T # § USIT &7 g €7 HdT gI?

Options:

1. * §TOQ
2. ¢ USITST
3. % TS
4, % YSATO

Question Number : 180 Question Id : 54592730279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaeli@d # T TaIT <R Sgade ¥ F1 &Y

Options:

1. = Joafar
2. v Ul

3. % UolTSel




4. = YSAT0T
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Mandatory or Optional: Mandatory

Number of Questions: 16
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Section Marks: 20
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Question Number : 181 Question Id : 54592730280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QT T ATl T AL DIT-HT 57
Options:

1. = @Tar
2. = T@TEAT
3. v @iedT

4. = giean

Question Number : 181 Question Id : 54592730280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TTE T TNl osg hied-ar &7

Options:

1. = &
2. = @i
3. v @fear
4.« HfeT

Question Number : 182 Question 1d : 54592730281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a3 o &0 & @t & i g e G o e g 3, 59 g B

Options:

1. * IJATT Pl

2. % Wi ZhTel

3. v YddIed

4, % T G919 Plel

Question Number : 182 Question 1d : 54592730281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁ?ﬂT#ﬁmwﬁm%é’lﬁEH AT H Bl T &l giar
g, 39 %gd &

Options:

1. % TIHTe kel

« HTaSThTel

o,
[t

« o dY gadATd Fiel

2.
3. v Hdhlel
4.

Question Number : 183 Question 1d : 54592730282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"SIIT gT 3T T g% AT g1 A DA DT S, e AT TG Tohg qepTL ar
aqTpd 57

.,
Options:




1. * Gl ATHY
2. % GIPd AT
3. * JUATHY

4. v T g

Question Number : 183 Question Id : 54592730282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"SI & e T g5 A & Hol hA HIew §g A fer T
T TR T ATy &7

Options:

1. = Il ATy

2. = H-{-chifd GIER)
3. % 3UdTeRT
4. v THET a=T

Question Number : 184 Question 1d : 54592730283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"eTg UGdT HI g 3T 3rGaR HI SerdT g1” Ig [hd Tehr &l a1pd g7

Options:

1. v 9gpd a19d
2. = TR aTpg
3. * I

4. % el dIpd

Question Number : 184 Question Id : 54592730283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"TE Uedl HT & 3N e A7 ST §1" I8 FE UhR F
qreFT &7

Options:

1. v H-gcrd CIERS




2. = THET are
3. % 3UdTR

4. = Il AT

Question Number : 185 Question Id : 54592730284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"SIT STE[E, T ATTeiT I
Options:

1. % 9T

Question Number : 185 Question Id : 54592730284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'O e T TATTelT B

Options:

1. » A=

2. % TSeT
3. v ATHT
4. = AT

Question Number : 186 Question 1d : 54592730285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T § ¥ DI-HT Ae[E FeT dger T g?

Options:

1. » Tel
2. % ol
3. % g
4., v YT

Question Number : 186 Question Id : 54592730285 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fFAel@d # & Hid-AT ¢ el SREED H IEAT &7

Options:

1. = el
2. = Slcol

3. = cd
4. v HIOT

Question Number : 187 Question Id : 54592730286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # 9 l=-9T SIec; T Uehera H TgdT g7

Options:

1. v 3THIST
2. % T
3. * @iodr
4. % @I

Question Number : 187 Question Id : 54592730286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraf@a & O Fia-ar o5 Ter Thaad A BT 27

Options:

1. v 3ThTeT

2. % hadT
3. = Fiadar
4. = I3

Question Number : 188 Question Id : 54592730287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG TGAT HgTe T 1Y 6T §7?

Options:

1. * T=aT IC@TT



2.« "I QAT
3. * WIAYaT TYC BT

4. * 9gd SUIEESH

Question Number : 188 Question Id : 54592730287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT I FEAY T AT AT E?

Options:

1. = SlardT T&ETen

2. v HIod TEd]
3. = JIASaT a5 el

4. = F&T dIT FLAT
|

Question Number : 189 Question Id : 54592730288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"Il UoTeAT HgTere @l 3 HaT g?

Options:

1. * Igd sl QST
2. % TS gl ST
3. v TR acel ST
4. * Igd HH e

Question Number : 189 Question Id : 54592730288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'EAT TolcaT HEMAY T 3 AT §7

Options:

1. » &gd SERAEGI
2. % IS BT SATelT
3. v UNEfa SEer STl

4. = 9gd FH @
P |




Question Number : 190 Question Id : 54592730289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T U Yd Fa T HgTer &1 319 T g2

Options:

1. v G IR Tl
2. % [T H g gl
3. * qd T¢@

4. % T 3T ST

Question Number : 190 Question Id : 54592730289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaT 9T o WA gler HgTeR T 3 FAT §7

Options:

1. v Holeh AN Gldl
2. = BT #& a5 g
3. % o femar

4. % #T 3T STl

Question Number : 191 Question Id : 54592730290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I @ 3T TG oAlehiTen 1 3 AT 3?

Options:

1. » Ge[d AT Dl Jield @7 WAl
2. * G AU DY 3IT I

3. * G AUZ ol GHAT WY o1
4. v o AT @ W g1 gIdTl

Question Number : 191 Question Id : 54592730290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

| I 3T TG elleplierd T 3127 T &7

Options:

1. = T ATST HT Yo FT 13|




2. % T Hasg R 3T oT3TaATI

3. » T He[sg FI FHAT 8 T
4. v T HISH HT A od BTl

Question Number : 192 Question Id : 54592730291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AATCITE ST AP DT Fal GETark § HIT:
GO B BN AT BT

Options:

1. * Jof 7 T3
2. v ©is T rar3ni
3. = 97 T SA137
4, % T FAT3M

Question Number : 192 Question Id : 54592730291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafefd ey arer 1 @dr Ay § R

FT A I IT HIETST

Options:

1. % 9ol o Sa3
2. v HIg o gIsT3
3. ® oA o Ser3i|
4, = AT o FATH

Question Number : 193 Question 1d : 54592730292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



THATel T MY AT i T Fgt HgTad ¥ HIKU:
# 39 W T TIS@md Tg! odn ag ar

Options:

1. » 32qT TS AT 3l
2. % ZTYT @I qIdT 3l
3. v JUEY T 1T 3l
4. % T[ dell gl

Question Number : 193 Question Id : 54592730292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafafe sy arer &1 rfafEa @ Agay & dRw:

H 35 w T @earm 81 HLar| gg ar

Options:

1. » 331 AT &
2. = BT T AT &
3. v SUEr &7 dller gl
4. = 9] Jell &I

Question Number : 194 Question 1d : 54592730293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Aol I HgTae T Tcten 314 i--4aT g?

o H T g
Options:

1. = 976 31Tl

2. v ST g gierer e
3. * U &7 g1 il
4, » g H qref g



Question Number : 194 Question 1d : 54592730293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafafad geal #1 @k 3e Sia-ar g7

e H I &l

Options:

1. = dT¢ 3T
2.@Wﬁﬁgﬁmﬁﬁml
3. = Ulal ol &A@ gl
4. = gy # e g

Question Number : 195 Question Id : 54592730294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"o t Glel GgIa- gid g, eliehirch @l 319 g

Options:

1. * T Y GleT T AL JATeITST 37T gl

2. * TT Y GleT T ATerTS A FATAT et gl
3. v I IS IHr T gl

4.« TR A Rt T A B

Question Number : 195 Question Id : 54592730294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"L % elel Faraal g g, dlehifehd T 3797 &:

Options:

1. % T & aler shT AYT 37Tarst 377§

2. # T ¥ elel T 3TeT A oIl T &
S.wEgEﬁr?ﬁﬁHL_@'ﬂ?Fﬁ'%l

4. = g7 | Aol fe@mg awer g €




Sub-Section Number: 2
Sub-Section 1d: 5459271800
Question Shuffling Allowed : Yes

Question Id : 54592730295 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension
"HATel G TENT<r & UG 1T T UL T IqaT &

Iie, g FHTST I SUUT GIdT T G el Scel el AT 7 Il did
TH AT STTa Bl GiaTdTreId HLAT g1 giaT AT dg YSTTd DT &1 | grdTl
STdd H USITUTd A ST GHIST ST 3, I9E TEJUE g 14T GHST S
i DI ST HGG TR gl

e g g FreruTe = G g S S St Bt g e
T 2, T UAT SMpld &R @ g <41 ¥ U g, ST 3ol g T
ATEd gl el TUT e & IR ST Tere[@ vt URerledd T g aF ag 4t
ST g Toh TOrefer & 39 319dIV Gl gl ag g Hi adrdr g Teh Taser # 3¢
DT TIAT gl ISEH og WeldT GoTdT SGHT TATgdT g SHeh [ & afchler AT
37 UTS[er-H# hl Mgt Dletl TATG-EIHT gt TATY Siter & IUT gId gl
TGTTY WSITAT dhiel IR TATHATET GiaT &, UAT FATare g uier
AT T AT U g 37T 319 wiergZ & T§Tas we onft g3 3

S A AR ¥ I g B AT g A T, g 3 e
T eI HI T gl

Uegeli-Hietgall gcy # TgET WG « FgT WiHer QI &l T FrHdT IS =
Si¢ ATS-SITerT Wl ich @ TelT 3Y 07 3 &H & Gl T UgR Ty Al

R eTeldg, USTTal AT, T GL-Jord-HI-Pel X §TTell ASICTE, Tl
TdEeTelele? 3T, Ml 7 T TS FH WILd # I9 ST AT Fell &
TUSTS DT SRS AT AT) ST TIh! bt aATuiT = TS T SIdT & §H Bl
guel TR 3§ T A & [T FERT, 3T 2merm &, 3R Sgl-agl Siterd o
I o TolT STHTAT T Tl

Sub questions

Question Number : 196 Question 1d : 54592730296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SURIpd eI h ITHN MUY UYL DI

Options:

1. » HITgqd TS T THDTCT gl

2. v Giigdqd # GHTST DI 4T ST ehdT
3. * gqd GHTST I Tehel gl

4. » Giigad TS & TR TeldT gl

Question Number : 197 Question Id : 54592730297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SURId e th AT
g T J&H H AT YHST T gl

Options:

1. % STt FATTUT P DIl
2. v G e Bl

3. * GHSTA-FSAT Bl

4, % TG HSPHI Bl

Question Number : 198 Question Id : 54592730298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUNCT RN RIS

chicl el TSTTUT T gl T4T gl

Options:

1. v AT &7 TA-FHTT T & BRI
2. % YSIT-Tgd & Il

3. % YT P YT P PI|

4. % YSIT T T T o 1|

Question Number : 199 Question Id : 54592730299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SURId el th AT

3qETgd I TdellH e feliayl

Options:

1. * 3rIqAIEd
2. % JTASqATIgd
3. v gaIquTed
4. » PHATIIETIET

Question Number : 200 Question Id : 54592730300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SURId e th AT

RIS & I U d iyl

Options:

1. = ek, GHTS-TFHATAT
2. = diak
3. v Bid; AT BT W

4. « e g o Fafar

Question Id : 54592730295 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



"TAFTel T ITgTer T TghT 1T T el T 3cad o

i gifecy THATST T SUUT BT of TR T Fcolel hl ST o
3&dT| g T FTH JUATT Sigd i yfafeiFaa T g @ar ar
g TSI ST ol o 9TaT| aedd H Tolvfad o S JHTT
ST §, 3T 3EISE BIohY 1T THATST Sellell hid s STeATHE
TR B

wid $r Tg gree TR 181 gldT §F7 3HA 36l SAT-hr-cAl
3T ol & & 3F, W OFT 3Ffa S a=a & ol gA
&, ST 3hid §H Sllal ATEd &1 Fid 3T 3T & 3HFTaR
oF feg A gRafda AT g T Ig AT sarar & & e @
39 AT ¥4 &1 a8 I8 #T §arar g ok fOeg & 39 F4w
AT 1 T8 a8 Weldl GoldT a%ell dadr & 38 & &
THbT T 3T qred-81fFr T aT&dT el J@TO-alaAl & Ty
Sad & 3cUed aId &1 SATIT USlvia shig i Temedardr
giar &, T Iarday fSas Oig addTe S edar W § 3w
3T AfTsT T Taifder W Wl g% ¢

SATIT FesT AMfged # 3790 FL-g% HT T & gl Folcll, Tg
3UHA TR FT FAT T G g

uggdl-Aieigdl T4l # f3dr anfgca & IEr offAser gt 1 o)
AT TUSTS o o AlTa-siiagel s Hiord & folv 3qel qoT 3T
gH & Hicholl W WEN [T & F2ART T, TSI oAleleh,
fRdl FT-Tord-HRT-FeIT SETell TSIar, dife fasaeeay 37,
AT o 3ET 9IS AT ARG H 39 ST Alelg g@9di & Oer3
T SHHN AT AT| o IMTRT hT ol o ST Faar & 7H
Y Taf =T 3T AC SNgaT & O g, 38 3merm a1, 3 J@-
Jal g S §eod & ol AT o fRam




Sub questions

Question Number : 196 Question Id : 54592730296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STIFA I & IHTAR 3T TISC HIToI0:

“TifgcT AT T ZUT §7-

Options:

1. = GifgcT TATST I THPET &
2. v Oligcd # AT I S@T ST GehelT &l
3. = TTRcT GHTST HT oTohel &

4. = GIgcT AT F A el &

Question Number : 197 Question Id : 54592730297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHFT I F Hed:

Hgcd TER[H H FAT sfffeT forerrelr &

Options:

1. = T TATIT el |
2. v HOY e hI|

3. » THAFA-FHATA HI|

4. = Ig $TShTal <hl|

Question Number : 198 Question 1d : 54592730298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T ACHTE & ITeTH:

FId I TSITUTd FII hal I=AT gl

Options:



v THATST T Tg-TaTATOT el & HILOT|
x Uoll-T&d o RO
TSIl hT T&TT o HIT|

ol
#®

« TSI T ISTel Flal F FRUT|

Question Number : 199 Question Id : 54592730299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHFT I F Hed:

Scqifed &1 faen#H osg A=)

Options:

1. = 3fcHTgd

2. = fa3carad

3. v gdicaIad

4. = qaa-ucgcﬂl'%d

Question Number : 200 Question 1d : 54592730300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T ACHTE & ITeTH:

AT T 3d e SiioTv]|

Options:

1. % id: GHATSA-TAATAT
2. = HIg

3. v ®id: AT T UWh
4. = i T &1 oA




